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1. Hopanoids are found in:

(A) Viruses

(B) Archaea

(C) Bacteria

(D) Both (B) and (C)

2. The flexible spiral-shaped bacteria with unique internal
flagellar arrangements are called as:

(A) Pleiomorphic

(B) Spirilla

(C) Spirochetes

(D) Both (B) and (C)

3. Reverse transcriptase in Retroviruses is an:

(A) RNA-dependent DNA Polymerase

(B) DNA-dependent DNA Polymerase

(C) RNA-dependent RNA Polymerase

(D) DNA-dependent RNA Polymerase

4. Endospore formation in bacteria mainly represents:

(A) Reproductive strategy

(B) Survival strategy

(C) Multiplication strategy

(D) Both (A) and (B)

5. The two water insoluble materials in fungal cell wall
include:

(A) Alpha-glucans and Beta-glucans
(B) Alpha-glucans and chitin

(C) Beta-glucans and chitin

(D) All of the above

6. Aplanospores are characteristic of:

(A) Zygomycetes

(B) Ascomycetes

(C) Basidiomycetes

(D) Both (A) and (B)

7. Venturia cerasi causes scab in:

(A) Apple

(B) Cherry

(C) Pear

(D) Willow

8. Lichens growing on the bark of tree trunks are called
as:

(A) Saxicolous

(B) Terricolous

(C) Corticolous

(D) Lignicolous

9. Flagella are absent in:

(A) Bacillariophyceae

(B) Dinophyceae

(C) Phaeophyceae

(D) Rhodophyceae

10. With reference to range of thallus structure, choose
the correct match:

Column-I Column-II

i. Unbranched a. Cladophora

ii. Branched b. Ulva

iii. Dendroid c. Zygnema

iv. Parenchymatous d. Ecballocystopsis

(A) i-d, ii-a, iii-b, iv-c

(B) i-d, ii-c, iii-b, iv-a

(C) i-a, ii-d, iii-b, iv-c

(D) i-c, ii-a, iii-d, iv-b

11. A single pyrenoid occurs in:

(A) Oedogonium

(B) Chlamydomonas

(C) Nostoc

(D) Both (B) and (C)
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12. Agar is derived from:

(A) Gracilaria

(B) Gonium

(C) Gloeocapsa

(D) All of the above

13. The type of embryogeny found in bryophytes is:

(A) Endoscopic

(B) Exoscopic

(C) Entropic

(D) Both (A) and  (C)

14. Which one of the following statements is incorrect for

Marchantia?

(A) The scales are arranged in a single row

(B) The rhizoids are of two kinds

(C) The upper surface of the thallus possesses air

pores

(D) The gametophores are unisexual

15. The protonema stage in Funaria is:

(A) Non-filamentous

(B) Non-vegetative

(C) Transitory

(D) All of the above

16. In bryophytes, apospory involves development of a:

(A) Sporophyte from the sporophyte without

meiosis

(B) Sporophyte from the gametophyte without union

of male and female gametes

(C) Gametophyte from the gametophyte without

union of gametes

(D) None of the above

17. Which one of the following is correct for Rhynia?

(A) Adventitious branches are present

(B) The sporangia are axillary

(C) Rhizoids are present

(D) Both (A) and (B)

18. Siphonostele is found in:

(A) Selaginella

(B) Rhynia

(C) Equisetum

(D) Both (B) and (C)

19. In Christenhusz et al. (2011) classification, extant

gymnosperms are divided into four:

(A) Phyla

(B) Subphyla

(C) Classes

(D) Subclasses

20. Gymnosperms lack:

(A) Herbaceous habit

(B) Circinate venation

(C) Microphyllous leaves

(D) All of the above

21. Which one of the following statements is incorrect for

the Bentham and Hooker system of classification:

(A) It was published in Species Plantarum

(B) It deals with phanerogams

(C) Gymnosperms were placed between dicots and

monocots

(D) All of the above
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22. Classification based on a single or few easily

observable characters without character weighing is:

(A) Artificial system of classification

(B) Phenetic system of classification

(C) Evolutionary system of classification

(D) Phyletic system of classification

23. Phenograms are the:

(A) Dendrograms showing evolutionary relationship

between taxa

(B) Dendrograms showing overall similarity

relationship between taxa

(C) Dendrograms showing comparative relationship

between taxa

(D) Both (B) and (C)

24. APG classification deals with:

(A) Archaebacteria

(B) Algae

(C) Angiosperms

(D) All of the above

25. Nomenclature refers to:

(A) Identifying a taxon by its scientific name

(B) Rules for scientific naming of a taxon

(C) Classifying a taxon

(D) Diagnosis of a taxon

26. As per the Principle of Priority, the valid scientific name

is the:

(A) Oldest name

(B) Most recent name

(C) Earliest correct name

(D) Most recent correct name

27. Dichotomous keys are a type of:

(A) Polyclave keys

(B) Punched card keys

(C) Multi access keys

(D) Sequential keys

28. ICN stands for:

(A) International Code of Nomenclature for algae

and plants

(B) International Code of Nomenclature for plants

and fungi

(C) International Code of Nomenclature for algae,

fungi, and plants

(D) International Code of Nomenclature for algae,

plants, and fungi

29. In grasses, intercalary meristems are located at the:

(A) Apex of the leaves

(B) Margin of the leaves

(C) Middle of the internodes

(D) Base of the internodes

30. In orchid aerial roots, the velamen is basically:

(A) Hypodermis

(B) Uniseriate epidermis

(C) Multiseriate epidermis

(D) None of the above

31. The cambium arising within bundles of primary

vascular tissue of stem is called as:

(A) Procambium

(B) Fascicular cambium

(C) Interfascicular cambium

(D) Both (B) and (C)
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32. Vascular bundles in stem of Sunflower are:

(A) Conjoint, bicollateral, open and endarch

(B) Conjoint, collateral, open and mesarch

(C) Conjoint, collateral, open and endarch

(D) None of the above

33. In which pathway, casparian strip obstructs the
movement of water in plants ?

(A) Symplast at hypodermis

(B) Symplast at endodermis

(C) Apoplast at endodermis

(D) Both (B) and (C)

34. Die-back of citrus is caused by the deficiency of:

(A) Boron

(B) Copper

(C) Iron

(D) Zinc

35. Which of the following is true about Vacuolar H+ -

ATPases:

(A) Differ from plasma membrane H+ -ATPases
structurally

(B) Differ from plasma membrane H+ -ATPases

functionally

(C) Are specifically inhibited by the antibiotic
bafilomycin

(D) All of the above

36. In photosystem second (PS II), the first acceptor of
electron is:

(A) Plastocyanin

(B) Pheophytin

(C) Plastoquinone

(D) Cytochrome b6f complex

37. Which of the following is not true about TCA cycle ?

(A) Acts as a metabolic sink which plays a central
role in intermediary metabolism

(B) CO2 is released during the formation of succinic
acid from succinyl-CoA

(C) Three regulatory enzymes include citrate
synthase, isocitrate dehydrogenase and
a- Ketoglutarate dehydrogenase

(D) Succinate dehydrogenase contains FAD as a
cofactor

38. Match the related features of the following columns
and choose the correct pairing below:

Column-I Column-II

i. Sugarcane a. Anabaena

ii. Gunnera b. Frankia

iii. Azolla c. Nostoc

iv. Actinorhizal plants d. Acetobacter

(A) i-b, ii-c, iii-d, iv-a

(B) i-d, ii-c, iii-a, iv-b

(C) i-d, ii-b, iii-a, iv-c

(D) i-a, ii-b, iii-c, iv-d

39. The physiologically active form of phytochrome is:

(A) Pr

(B) Pfr

(C) Both (A) and (B)

(D) None of the above

40. Which of the following statement is incorrect about
Indole-3-acetic acid (IAA) ?

(A) It is the main natural auxin.

(B) It is synthesized in meristems and young dividing
tissues.

(C) Polar transport of IAA requires energy and is
dependent of gravity.

(D) Both (A) and (C)
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41. Recessive lethal alleles are lethal when present in:

(A) Homozygous condition

(B) Heterozygous condition

(C) Both (A) and (B)

(D) None of the above

42. A heterozygous pea plant that is tall with yellow seeds,

TtYy,  is allowed to self- fertilize. What is the

probability of off-springs with tall and yellow seeds,

tall and green seeds, and dwarf and yellow seeds?

(A) 74%

(B) 65%

(C) 94%

(D) 50%

43. Inversions spanning the centromere are known as:

(A) Pericentric

(B) Paracentric

(C) Acentric

(D) Metacentric

44. Bar eye phenotype in Drosophila occurs due to:

(A) Deletion of 16A locus of the X- chromosome

(B) Duplication of 16A locus of the X- chromosome

(C) Translocation of 16A locus of the

X- chromosome

(D) Deletion of 16A locus of the Y- chromosome

45. The “distribution and shipping department of cell’s

chemical products” is:

(A) Endoplasmic reticulum

(B) Lysosomes

(C) Peroxisomes

(D) Golgi apparatus

46. Choose the correct combination:

(A) Bouquet stage: Zygotene

(B) Spirene stage: Anaphase

(C) Congression: Metaphase

(D) Synzetic knot: Diplotene

47. Nuclear localization signal present on the proteins

transported to nucleus is:

(A) Lysine rich identified by Exportin

(B) Leucine rich identified by Importin

(C) Lysine rich identified by Importin

(D) Leucine rich identified by Exportin

48. Tryptophan operon in E. coli is an example of:

(A) Positively controlled inducible operon

(B) Positively controlled repressible operon

(C) Negatively controlled repressible operon

(D) None of the above

49. Pollination by ants is known as:

(A) Melittophily

(B) Malacophily

(C) Myrmecophily

(D) Myophily

50. The ovules in which micropyle-chalaza line is

horizontal and placed at right angle to the line of funicle

are known as:

(A) Anatropous

(B) Orthotropous

(C) Hemitropous

(D) Amphitropous
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51. Polygonum-type of embryo sac consists of:

(A) 7 cells and 7 nuclei

(B) 8 cells and 7 nuclei

(C) 7 cells and 8 nuclei

(D) 8 cells and 8 nuclei

52. Embryogenesis in Citrus is an example of:

(A) Simple polyembryony

(B) Adventive polyembryony

(C) Cleavage polyembryony

(D) None of the above

53. Raunkiaer’s life forms are recognised on the basis of:

(A) Minimum height of the plants

(B) Canopy dominance of the plants

(C) Position of perennating buds on plants

(D) Life span of the plant

54. An ecotone has:

(A) Lower number of species as compared to
neighboring communities

(B) Higher number of species as compared to
neighboring communities

(C) Almost equal number of species as occuring in
neighboring communities

(D) Both (B) and (C)

55. The type of ecological succession in which the existing
community is replaced by external factors is referred
to as:

(A) Secondary succession

(B) Autogenic succession

(C) Autotrophic succession

(D) Allogenic succession

56. Kashmir falls in the Indian biogeographic province

of:

(A) Trans-Himalaya

(B) West Himalaya

(C) Western Himalaya

(D) North-West Himalaya

57. Crocus sativus belongs to the family:

(A) Ixiolioraceae

(B) Iridaceae

(C) Crocusaceae

(D) Cruciferae

58. Cotton is an example of:

(A) Bast fibres

(B) Structural fibres

(C) Surface fibres

(D) Xylary fibres

59. Which part of Saussurea costus plant is medicinally

most important?

(A) Root

(B) Leaves

(C) Flowers

(D) Fruits

60. Which of the following is not related with Papaver

somniferum?

(A) Morphine

(B) Codeine

(C) Opine

(D) Noscapine



SM-29581–A 8
v

ROUGH WORK

188



s" xo.....01-Q-Q

ENTRANCE TEST.2O22

SCHOOL OF BIOLOGICAL

BOTANY
60

70 Minutes

SCIENCES

Total Questions :

Time Allowed : Roll No, :

Question Booklet Series I A I

Instructions for Candidat€s :
L Write vour tntrance Test Roll Number in the space provided at the top ofthispage ofQueslion Booklcl

and fifi up the necessary information in the spaces provided on the OMR Ans$er Sheel

2. OMR Answer Sheet has an Original Copy and a Candidale's copy- glued beneath it at fie top. while
makins enrries in the Orip,inal Copy, candidate should ensure that the two copres are allgned properl\
so thaithe entries made i-n the Oriiinal Copy against each item are exactly cbpied in the Candidale s

copy.

3. All entdes inthe OMRAnswer Sheet, including answers toquestions, are to be recorded in the Original
Copy only.

4. Choose lhe correct / most appropriate response for each quesrion among the options A. B. C and D and
darken the circle ofthe aDDropriate response completely. I he mcomplete darkened clrcle ts nol correctly
read bJ the OMR Scanri<ir and no corirplaint to this effect shall be entenained.

5. Us€.only blue/blackball poinr pen to darken the circle ofcorrecvmost appropriate response. In no casc
gevlnx pen or pencrr snouro oe useo.

6. Do not darken more than one circle ofoptions for any question. A question with more tlnn one darkcned
response shall be considered wrong.

7. Therewill be 'Neeativc Marking' for wrong answers. Each utong answer will lead to the deduction
of0.25 marks fro;l the total scorE ofthe can-didate.

8. Onlythose.candidates who would obtain positive score in Entrance Test Examination shallbe eligible
ror acunlsslon.

9. Do not make any stray mark on the OMR sheet.

10. Calculators and mobiles shall not be permitted inside the examination hall.

I 1 . Rough work, if any, should be done on the blank sheets provided with the question booklet.

12. OMRAnswer Sheet must be handled caltfully and it should not be folded or mutilated in which case
it will not b€ evaluated.

13. Ensure that your OMR Answer Sheet has been signed by the Invigilator and the candidate himselfT
herself.

14. At the end of the examination, hand over the OMR Answer Sheet to the invigilator who will first tear
offthe original OMR sheet in presence Af the Candidate and hand over the Candidate's Copy to the
candidate.

sv-14781-A [Turn over



1.

2.

5.Choose the most appropdate response among the
following :

(A) The genetic material of viruses is enclosed
in a protein coat called capsid

(B) All viruses perform both lyic and lysogenic

cycles

(C) Both (A) and (B) are conect

(D) Only (A) is conect and (B) is inco(ect

The pigment phycoerythrin is characteristic of:
(A) Green algae

The non motile, greatly thickened asexual spore

in algae are called :

(A) Ascospores

(B) Zoospores

(C) Hypnospores

(D) Aplanospores

Pick the pair that is incorrecrly matched

(A) Cycas - Corraloid roots

@) Pinus - Winged pollen grains

(C) Cycas - Wirged pollen grains

(D) Pinus - Myconhizal Association

A very thick walled non flagellated stucture which
is produced by fusion of specialized budding
structures from mycelia of homothallic or
heterothallic mating t ?es is called :

(A) Basidiospore

(B) Zygospore

(C) Ascospore

(D) All the above

Which ofthe following is not conectly matched ?
(A) Chlamydomonas - Udcellular and flagellate
(B) Ectocarpus - Profusely branched and

uniseriate filaments
(C) Oedogonium - Filamentous, multicellular

and unbranched

(D) Vaucheria - Unicellular, colonial and
flagellate

9. Identifr the incorrect statement about binomial
system of nomenclature :

(A) Binomial nomenclattrre has two parts namely
genetic epithet and specific epithet

(B) Both genetic and specific names should be

Latinized

(C) The genedc and specific names should start

with a small and capital letter respectively

(D) The generic and specific names should start

with a capital and small letter respectively

6.

(B) Red algae 7'

(C) Biown algae

(D) Blue green algae

3. The primary advantage of Bentham and Hooker
system ofclassification is :

(A) The classification is exclusively based on
evolutionary relationships

(B) The classification is mainly based on 8.

phltochemistry and anatomical features

(C) Th€ classification is based on similarities at
genetic/molecular level

(D) The classification is based on the actual
examination of the specimens

4. Choose the most apFopriate match among the
following :

(A) Rh i z op u s s t o I onifet-Zy gomy cqtes & Ve n t ur ia
i n ae qua I i s - D othideomy cete s

(B) Rhizopus stolonifer - Dothideomycetes
&Ventu d inaequalis - Zygomycetes

(C) Rhizopus stolonifel - Zygolnyaetes &
Ve n tu fi a i ha e q ua I i s -Deuteromycetes

(D) Rhizopus stolonifer - Basidiomycetes &
Ve nt u r i d i n a e q ua I i s- Ascomyc€tes

)
0
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Among the following, which is not the 15'

characteristic feature of Bryophytes ?

(A) Heteromoryhic altemation of generation

(B) Sporophyte is dependent on gametoph)4e

(C) Water is essential for fertilization

(D) Presence of Fotostele
The intemational day for biodiversily is celebrated

everyYearon: l'7.
(A) Match 21

(B) April 15

(C) MaY 22

(D) June 10

12. In which of the following activities, the moss

pedstome takes Part in ?

(A) Spore dispersal 18.
(B) Photosynthesis

(C) Protection of male and female gametes

(D) Fertiliz tion ofmale and female gametes

13. In sexually reproducing angiosperms, choose the

cofect statement :

(A) Interspecific incompatibility prevents cross

pollination

(B) Intraspecific incompatibility promotes cross

pollination l9'

(C) Both (A) and (B) are true

(D) Neither (A) nor (B) is uue

14. The substitute for newly collected specimen when

the original g?e is missing in a herbarium is called :

(A) HolotlTe

(B) Neoqpe

(C) I-€ctotype

(D) Isotype 20

15. The binary fission in bacteria involves'all except :

(A) Cell elongation

(B) Claokinesis

(C) DNA duplication

(D) Spindle formation '.

sv-r4781-A

Identiry the mismatch with regard to anatomical

features :

(A) Root apex - Tunica-Corpus Theorl'

(B) Vessels - bordered Pits

(C) Endodermis - casParian striPs

(D) Pericycle - lateral roots

The cha&ctedstic feature of endosperm of cycas

(A) Diploid and p(oduced alter fertilization

(B) Diploid but produced before fertilization

(C) Triploid and produced after fertilization

(D) Haploid and produced before fertiliz^tion

The document that contains all the information

related to a particular genus or family is termed

as:

(A) Herbarium

(B) Monogaph

(C) Manual

@) Holoqpe

A haplontic and diplontic life cycle is found in

following algal R?es :

(A) Chlamydomonas andEctocarpus respectively

(B) Ectocarpus andcblamydomonasrespectively

(C) Clamydomonas and Oedogonium

respectively

(D) Ectocarpus and Cladophora rcspectively

In tetradynamous condition, fhe stamens are :

(A) 2 short and 2long

@) 4 short and 2 long

(C) 4long and 4 short

(D) 4long and 2 short

o
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)t. The fem sporophye produces genetically unique 26.
spores by meiosis. What happens to the spore after
dispersal ?

(A) It germinates to become a prothallus
(B) It fuses with another spore to form a zygore
(C) It develops into a thick walled structure called

zJgospore 2'1.

(D) It produces a sporangiophore

In preparation ofa herbarium, identi& the correct
sequence :

(A) I-abeling - pressing - Collection _ Drying _
Poisoning - Mounting

(B) Collection - pressing - Drying - poisoning - 
8'

Mounting - Labeling
(C) Collection - pressing _ Drying _ poisoning _

Labeling - Mounting
(D) Collection - Iabeling - pressing _ Mounffng _

Poisoning - Drying 29.
The antherozoids ofFunaria are :

Find the odd one ou1 :

(A) l^ate blight ofpo tato - phytopthota ihfestans
(B) Basidium * lgancas
(C) Ascospore - Zenturia ihaequalis
(D) Paddy blast - Xa nthomonas oryzae
A botanical garden represents collection of:
(A) Endemic living species only
(B) Exotic living species only
(C) Both endemic and exotjc living species
(D) Herbarium specimens of all available plants
In case ofdicot stem, the vascular bundles are :

(A) Open, conjoint, endarch

(B) Closed, conjoint, endarch

(C) Closed, conjoint, exarch

(D) Open, coqioint, exarch

Which of the following statements is true about
the Tobacco Mosaic Virus ?

(A) Helical, DNA virus, Rod shaped
(B) Helical, RNA virus, Rod shaped
(C) Linear, RNA virus, Spherical

(D) Linear, DNA virus, Cuboidal
30. In Pteridophytes, the spore bearing leaf like

structues arc called as :

(A) Pte dophylls

(B) SpoEngia

(C) Sporophrre

(D) Sporophylls

What is true about a monocot leaf ?
(A) Reticulate venation

(B) Absence of bulliform cells in epidermis
(C) Mesophyll not differentiated into palisade and

spongy ttssue

(D) Well differentiated mesophyll

)2.

23.

(A) Non-flagellate

(B) Multiflagellate

(C) Uniflagellate

(D) Biflagellate

Choose the incorect match among the following :

(A) Gibberellic acid - Callus differentlarron
(B) Abscissic acid - Stomatal closure
(C) Auxin -Apical dominance
(D) Cltokinin - Cell division
In bacteria, which of tlle following can be used as

i,i:i:"* to^ construct a linkage map of Hfr 31.chromosome ?

(A) Size of F factor in the donor cell
(B) Time oftransfer during conjugation
(C) Presence or absence of nutrients tn the

medium

(D) All rhe above

25.

4
0
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32. In a flower structure, the s),ncarpous condition
means :

(A) Fused carples

(B) Fused Conola

(C) Fused sepals

(D) All the above

33. Find the odd one out :

(A) Cleistogamy - Selfpollination

(B) Xenogamy - Cross pollination

(C) Entomophily - pollination by msects

(D) Anemophily - pollination by birds
34. Which among the following is an example of

natural fiber ?

(A) Cotton

(B) Sitk

(C) Wool

(D) All rhe above

35. In which of the following fungal groups have
motile cells with two laterally inserted flagella
(tinsel and whiplash t}?e) ?

(A) Zygomycetes

(B) Deuteromycetes 40.

(C) Oomycetes

(D) Chyhidiomycetes

36. In angiosperms (i) Endosperm formation is the
result oftriple fusion (ii) Seedless ftuits are formed
iffertilization fails to take place. 41.

(A) Both (i) and (ii) statements arefalse

(B) Both (i) and (ii) statements are lrue
(C) Statement (i) only is true

(D) Sralemenr {ii) only is true ,.

37. According to fluid mosaic model of cell
membranes, which ofthe following is true about
phospholipids ?

(A) The hydrophobic tails face the interior whereas
hydrophilic heads face the exterior side ofthe
membiane

(B) Phospholipids in the bilayer can move
laterally along the plane ofthe membrane

(C) Both (A) and (B) are correcr

(D) Only (A) is true but (B) is false
38. In which of the following asp€cts are the

components ofthe ecosystem seen to function as
a unit ?

(A) Productivity

(B) Decomposition

(C) Ercrgy flow
(D) All the above

The following arrangement is found in a
bicollateral vascular bundle :

(A) Xylem being sandwiched between phloem
(B) Phloem being sandwiched betwe€n xylem
(C) Transve$e splitting of vascular bundle
(D) Longitudinal splitting of vascular bundle
Identi& the inconect one :

(A) Micronutrient - Calciunr
(B) Micronutrient - Iron
(C) Macronutrient - Nitrogen
(D) Macronutrient - Potassium

ln which ofthe following groups would you place
a plant which produces spores and embryos but
lacks seed and vascular tissue ?

(A) Algae

(B) Bryophlra

(C) Pteridophl,ta

(D) Gymnosperms

39.
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42. The DNA has following properties except : 46.

(A) Serves as the template for the synthesis of
mRNA in 3'to 5' direction by DNA

. pol)'merase

(B) Serves as the genetic material for tansfer of
traits from one generation to the next

(C) Remains constant despite changes in

environmsntal conditions

(D) In the double helical structure, adenine base

pairs with thymine and guanine base pairs

withc)'tosine 
4j.

43. A population is characterized by the following

facto$ except :

(A) Mortality

(B) Natality

(C) Stratificatiqn

(D) Sex ratio

44. The first produat of C3 and C4 cycle is :

(A) OAA and 3-PGA respectively

(B) 3-PGA, OAA respectively

(C) PGAL, RUBP respectively

(D) OAA and PGAL respectively

45. What is not tue about a taxonomic key ?

(A) A taxonomic key is used for identification of
plants

(B) A taxonomic key at a time shows acceptanca

of one character and rejection of anether

characte!

(C) Fach statement in the key is called lead

@) A taxonomic key will not lelp us in

identifyingunknownspecievplant'r

In humans the gene for eye color is present on 'X'
chromosome. Brcwn eye color (B) is dominant to
blue eye color (b). A female with brown eye color
(BB) marries a man with blue eye color What is
the expected phenot,?e oftheir male and female

childrcn ?

(A) Male has blue eyes whereas female child has

brown eyes

(B) Male has brciwn eyes whereas female has blue

eyes

(C) Both male and female have brown eyes

(D) Both male and female have blue eyes

Identify the conect statement :

(A) In C3 plants Calvin Pathway occurs in
Mesophyll cells

(B) In C4 plants Calvin Pathway occurs in Bundle

Sheath Cells

(C) Both (A) and (B) are true

(D) Neither (A) nor (B)

The proc€ss ofosmosis involves :

(A) Movement of solute through a semi-
permeable membrane

(B) Movement of solvent through a semi-
permeable membrane

(c) Both (A) and (B)

(D) Neither (A) nor (B)

Which ofthe following is a conect interpretation
of law of independent assortment ?

(A) The dominant and recessive factors of a tait
enter inlo separate garnetes during meiosis

(B) For multiple tuaits under consideration, each

segregate independently of one another

(C) For multiple traits under consideration, the

expression ofone trait is masked by the other

trait

(D) All the above

48.

49.
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50. The following enzyme plays important role in 55.

opening ofDNA replication origins and fomation
ofnegative supercoils which aids in unwinding of
DNA:

(A) DNA Pollmeraselll

(B) DNA gtase

(C) Primase 56'

(D) Klenow polymerase

The net gain ofATP molecules in Glycolysis is :

(A) 2ATPS

(B) 3 ATPs

(C) 6ATPS 
s./.

(D) 8 ATPs

Dufing protein synthesis in Fokaryotes, which
component is the last to join the initiation
complex ?

(A) Mature mRNA molecule 
58.(B) The small ribosomal subunit

(C) The large ribosomal subunit

(D) The initiator tRNA carrying methionine
amino acid

It has been established that the pyamid ofenergy
is always upright, because : 

59,(A) The energy conversion efficiency of
herbivores is better than camivores

(B) The energy conversion efficiency of
camivores is better than herbivores

(C) Producers are less in number but generate

more biomass

(D) Consumers are more in number but generate

less biomass 60,
To fix one molecule ofnitrogen :

(A) 6 AIP molecules are required

(B) 12 AIP molecules are required

(C) l6 AIP molecules are required

(D) 24 ATP molecules are required ..

In your opinion which human activities have
adverse efect on carbon cycle in the atmosphere ?

(A) Overpopulation & Habitat destruction

(B) Aforestration & Invasion
^. ^ ';(L) t umlng ol tossll tuels & deloreslration

(D) All the above

The enryme plruvate dehydrogenase is used in
conveding :

(A) Plruvic acid to Lactic acid

(B) Pymvii acid to acetyl-CoA

(C) Pyruvate to glucose

(D) Glucose to Pyruvate

ldentiry the conect pair :

(A) Trisomy (44+XXY) - Kleinfelter syndrome

(B) Monosomy (44+X0) - Tumer syndrome

(C) Duplication - Cry-du-cat syndrome

(D) Both (A) and (B)

The major phyto-chemicals in saffron (Crocrs
sativa) arc '.

(A) Crocin, analine & atropine

(B) Picrocrocin, Saffranal & Hyocyamine

(C) Crocin, picrocrocin & saflranal

(D) Crocin, hyocymine & atropine

In a monohybrid cross, red flower color (RR) is
dominant over white flower color (n). What will
be the phenot'?ic ration from a cross between
fuxrIparents?
(A) 50% red and 50% white

(B) 50% red and 25% white

(c) 100 % red

(D) 100% white

The genes responsible for dwarfness in wheat and
rice are ;

(A) Nodn-10 & Dee-geo-wo-gene respectively

(B) Dee-geo-wo-gene & Norin- l0 respectively

(C) Norin-I0 & Orizin-10 respectively

(D) De-geo-wo-gene and Odzin-I0 respectively

51.

52.

53.

54.
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1. A seed can be conceived to have evolved from a
specialized megasporangium via:
(A) Reduction in the number of megaspores to

one
(B) Sinking of megaspore towards the basal part

of megasporangium
(C) Displacement of the vascular strand and its

division into two branches
(D) All the above

2. Which of the following is true for the gemmae in
Marchantia ?
(A) Chlorophyllous structures
(B) Have two or more lateral notches
(C) Born on one celled stalk
(D) All of the above

3. In photosynthesis, the first step is:
(A) Photolysis of water
(B) Production of NADPH2

(C) Photoexcitation of chlorophyll
(D) Synthesis of ATP

4. The precursor for abscissic acid (ABA) is:
(A) Zeatin
(B) Lutein
(C) Violaxanthin
(D) Mevalonic acid

5. What is the most precise function of the filiform
apparatus?
(A) Guide the entry of pollen tube
(B) Recognize the suitable pollen at the stigma
(C) Produce nectar
(D) Stimulate division of generative cell

6. Functional megaspore in an angiosperm develops
into:
(A) Endosperm
(B) Embryo
(C) Embryo-sac
(D) Ovule

7. When the activity of one gene is suppressed by
the activity of a non-allelic gene, it is known as:
(A) Pseudo-dominance
(B) Hypostasis
(C) Epistasis
(D) Incomplete dominance

8. Which term represents a pair of contrasting
characters?
(A) Heterozygous
(B) Homozygous
(C) Codominant genes
(D) Allelomorphs

9. In the life cycle of a pine tree, the ovules are found
on the:
(A) Needlelike leaves
(B) Seed cones
(C) Pollen cones
(D) Roots, stems and leaves

10. The influence of parent material is:
(A) More evident on soils from glaciated region

than comparable un-glaciated regions
(B) More evident on soils from un-glaciated

region than comparable glaciated regions
(C) Equally evident on soils from both glaciated

and un-glaciated regions
(D) None of the above

11. Histones, the very important constituent of
chromatin, represent a family of:
(A) Negatively charged protiens
(B) Positively charged protiens
(C) Both positively and negatively charged

protiens
(D) Carbohydrates not protiens

12. Which of the following is true about Nostoc ?
(A) Akinetes are produced
(B) Heterocysts are produced
(C) Trichomes are embedded in mucilage
(D) All of the above
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13.  The function of a catalyst is to:
(A) Decrease the rate of a reaction by way of

affecting the reaction equilibria
(B) Increase the rate of a reaction by way of

affecting the reaction equilibria
(C) Decrease the rate of a reaction but not

affecting the reaction equilibria
(D) Increase the rate of a reaction but not

affecting the reaction equilibria
14. Which of the following is not true for the palmella

stage in Chlamydomonas ?
(A) It is a means of sexual reproduction
(B) It is a means of asexual reproduction
(C) A large number of near naked cells devoid

of flagella lie inside a mucilage mass
(D) The stage develops in response to

unfavourable water conditions and toxic
chemicals

15. Introns are segments of DNA that:
(A) Are expressed as genes
(B) Regulate mRNA production
(C) Code for long sequences of amino acids
(D) Are inserted between expressed genes

16. Which of the following is not true about the Sieve
cells and Sieve tube elements ?
(A) They are morphologically almost equivalent
(B) They are alike in fundamental structure and

function
(C) They are quite similar in perforation pattern

of their wall
(D) They differ in perforation pattern of their

wall
17. Which of the following Botanical Gardens is not

correctly matched with its place ?
(A) Royal Botanical Garden - Kew
(B) Pisa Botanical Garden - Italy
(C) Missouri Botanical Garden - USA
(D) Padua Botanical Garden - Germany

18. In the host cell, replication of RNA virus takes
place in:
(A) Nucleus

(B) Cytoplasm
(C) Mitochondria

(D) Centriole
19. The phase of the cell cycle immediately preceding

mitosis is called:

(A) S phase
(B) G1 phase

(C) G2 phase
(D) M phase

20. Protein molecules that differ in a few amino acid
residues are called:
(A) Isoforms

(B) Isotypes
(C) Glycoforms

(D) Polymers
21. Which of the following is mismatched ?

(A) Pollen grain – microgametophyte
(B) Ovule – megagametophyte

(C) Seed – immature sporophyte
(D) Pollen tube – spores

22. Which of these are found in all viruses?
(A) Envelope, nucleic acid, capsid

(B) DNA, RNA, proteins
(C) Proteins and a nucleic acid

(D) Proteins, nucleic acids, carbohydrates and
lipids.

23. During bacterial conjugation, as a result of cross
between F+ and F- :
(A) F- becomes F+ and F+ remains F+

(B) F- becomes F+ and F+ becomes F-

(C) F+ becomes F- and F- remains F-

(D) F+ remains F+ and F- remains F-
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24. The most conspicuous feature(s) of Equisetum
include:

(A) Jointed nature of stems

(B) Intercalary growth

(C) Small leaves around the nodes

(D) All the above

25. A low KM value indicates:

(A) High substrate concentration

(B) High product concentration

(C) Weak enzyme-substrate binding

(D) Strong enzyme-substrate binding

26. Which of the following pigments does not have
oxygen in its molecule ?

(A) Chlorophyll a

(B) Chlorophyll b

(C) Carotene

(D) Xanthophyll

27. In photorespiration the molecule that is oxidized
in mitochondria to release CO2 is:

(A) Glycine

(B) Glycolate

(C) Glyoxylate

(D) Glyceric acid

28. The enzymes of glycolysis are present in:

(A) Outer mitochondrial membrane

(B) Inner mitochondrial membrane

(C) Mitochondrial matrix

(D) Cytosol

29. Which of the following is not a termination codon
in the universal genetic code ?

(A) AUG

(B) UGA

(C) UAG

(D) UAA

30. The pressure-flow model of phloem transport
states that:
(A) phloem sap always flows from the root to

the leaves
(B) water flow brings sucrose from a source to

a sink
(C) water pressure creates a flow of water
(D) Both (B) and (C) are correct

31. A plant requiring a dark period of at least 14 hours
will:
(A) flower if a 14-hour night is interrupted by a

flash of light
(B) not flower if a 14-hour night is interrupted

by a flash of light
(C) not flower if the days are 14 hours long
(D) Both (B) and (C) are correct

32. In which of the following processes molybdenum
has an important role ?
(A) Nitrogen fixation
(B) Flower induction
(C) Chromosome contraction
(D) Carbon assimilation

33. The cell at zero turger pressure shows:
(A) Evident plasmolysis
(B) Incipient plasmolysis
(C) Limiting plasmolysis
(D) Deplasmolysis

34. Which of the following concepts in APG-II
received criticism, hence was abandoned in
APG-III ?
(A) Phylogentic principle and constructing taxa

on the basis of monophyly
(B) Reduction in the number of unplaced

families
(C) Bracketed keys
(D) Construction of supraordinal monophyletic

clades
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35. Which of the following characterize the monocot ?
(A) Root phloem between arms of xylem
(B) Root xylem and phloem in a ring
(C) Stem vascular bundles in a distinct ring
(D) Stem and root vascular bundles with same

arrangement
36. Between the bark and the wood in a woody stem,

there is a layer of meristem called:
(A) Cork cambium
(B) Vascular cambium
(C) Procambium preceding bark
(D) Apical meristem

37. Which of the following types of plants are most
likely to be benefitted under increased CO2

concentration in a climate change context ?
(A) C3 plants to be benfitted more than C4 plants
(B) C4 plants to be benfitted more than C3 plants
(C) Both C3 and C4 to be equally benefitted
(D) Neither C3 nor C4 plants to be benefitted at

all
38. A pollen grain is a:

(A) a haploid structure
(B) a diploid structure
(C) first a diploid and then a haploid structure
(D) first a haploid and then a diploid structure

39. A cross between homozygous recessive and
heterozygous plant is:
(A) Monohybrid cross
(B) Dihybrid cross
(C) Test cross
(D) Back cross

40. When both alleles express their effect on being
present together, the phenomenon is called:
(A) Dominance
(B) Codominance
(C) Pseudodominance
(D) Aphidominance

41. A chromosome with sub-terminal centromere is:

(A) Acentric

(B) Acrocentric

(C) Metacentric

(D) Telocentric

42. Which of the following is the principal cereal of
tropics and was introduced from Old World into
New World ?

(A) Maize

(B) Potato

(C) Rice

(D) Tobacco

43. Opium is obtained from:

(A) Rauvolfia serpentina

(B) Arnebia benthamii

(C) Saussurea costus

(D) Papaver somniferum

44. The National Botanical Research Institute is
located in:

(A) New Delhi

(B) Lucknow

(C) Kolkata

(D) Bengaluru

45. Which of these is mismatched?

(A) Polar nuclei – plumule

(B) Ovary – fruit

(C) Egg and sperm - zygote

(D) Ovule – seed

46. The megasporocyte and the microsporocyte:

(A) Both produce pollen grains

(B) Both divide meiotically

(C) Both divide mitotically

(D) Produce pollen grains and embryo sacs,
respectively



SS-5441–A 6
i

47. Which of the following is a well-known
greenhouse gas ?

(A) N2O

(B) NO

(C) NO2

(D) None of the above

48. The interaction in which one species is harmed
and the other is unaffected is called:

(A) Amensalism

(B) Commensalism

(C) Parasitism

(D) Predation

49. Which of the following is the best example of a
perfect nutrient cycle ?

(A) Nitrogen cycle

(B) Phosphorus cycle

(C) Carbon cycle

(D) Sulphur cycle

50. Which of the following statements is true ?

(A) Grazing food chains are dominant in
terrestrial ecosystems while the detritus
based ones are so in aquatic ecosystems

(B) Detritus based food chains are dominant in
terrestrial ecosystems while the grazing ones
are so in aquatic ecosystems

(C) Detritus based and grazing food chains are
equally dominant in terrestrial ecosystems
as well as aquatic ecosystems

(D) None of the above

51. Which of the following names of Taxonomic Keys
is not correctly matched ?

(A) Yoked – Indented

(B) Bracketed – Parallel

(C) Serial – Numbered

(D) Indented – Bracketed

52. Which of the following is not a strategy for ex-

situ conservation ?

(A) Botanical garden

(B) Biosphere reserve

(C) Seed bank

(D) Cryopreservation

53. Mycorrhizas are critically important for host

plants under:

(A) Low phosphorus conditions in soil

(B) High phosphorus conditions in soil

(C) Aquatic environments

(D) None of the above conditions

54. A specimen which is a duplicate of the holotype,

collected from the same place, at the same time

and by the same person is called the:

(A) Lactotype

(B) Neotype

(C) Isotype

(D) Topotype

55. The technique used to make huge number of copies

of a specific DNA segment is:

(A) Ligase chain reaction

(B) Polymerase chain reaction

(C) Transcription

(D) Translation

56. Chipko movement was launched for the protection

of:

(A) Wetlands

(B) Forests

(C) Grasslands

(D) Esturies
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57. The surface of the gill, on both sides, in Agaricus
is covered with a fertile layer called:
(A) Hymenium
(B) Basidium
(C) Cystidium
(D) Closteridium

58. The casparian strip affects:
(A) how water and minerals move into the

vascular cylinder
(B) vascular tissue composition
(C) how organic nutrients move into the vascular

tissue
(D) how soil particles function

59. According to Vavilov, the origin of cultivated
wheat is:
(A) Africa
(B) South America
(C) Australia
(D) Ancient Mediterranean including Southwest

Asia
60. The characteristic feature(s) of Rhyniophytes

include:
(A) Sporangia at the tips of branches
(B) Green stems
(C) Both (A) and (B)
(D) Neither (A) nor (B)
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l. Flowcr colour in .dog flower, is a good example
to understand the law of:
(A) Incomplctedominance

(B) Complete dominance

(C) Co-dominance

(D) Segregation

As per Mendel,s Laws of Inheritance, the
scgregation of alleles is a random process, and
so the chance ofa gamete containing either allele
is:

(A) 100%

(B) s0 %

(c) 7s %

(D) 2s %

Thc cnzyme responsible for cloning ofa gene is :

(A) Nuclease

(B) Polymerase

(C) Ligase

(D) Lyase

What is true about plasmids ?

(A) They have rhe ability to rcplicatc within
bactcrial cells indepcndent oithe control of
chromosomal DNA

(B) Their ability to replicarc wirhin the bacrerial
cells is under the control of chromosomal
DNA

(C) Ihey do not have the ability to replicatc,
that is why they arc uscd. as Vectors

(D) Thcy do nor havc rhc abiliiy ro replicatc in
the host cclls

5. The duplication ofthe centriole in a dividing c
takes place during :

(A) Metaphase

(B) Anaphase \

(C) S phase ofinterphase
(D) None ofthe three

6, In genetic code, some amino acids are coded b
more than one codon. This means that the geneti
code is :

(A) Specific

(B) Degenerate

(C) Universal

(D) Unambiguous

7. The intracellular space of eukaryotic cells il
divided into luminal and extra lumina
compartments by :

(A) Golgi bodics

(B) Ribosome

(C) Lysosomes

(D) Endoplasmicreticulum

8. The 50S antl30S units ofribosome when present
tegcther in a prokaryotic cell, form :

(A) 80S ribosome

(B) 90S ribosome

(C) 70S ribosome

(D) 20S ribosome

9. In agarose gel electrophorasis, the DNA fragments
are separated under an electric field, in a medium.
as they are :

(A) Positively charged and move towards
cathode

(B) Negatively charged and move towards anode
(C) Positively charged and move towards anode
(D) Negativcly charged and move towards

cathode

3.
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15.10. In the new world, evidence from archaeological

sites show agricultural beginning in the following
two areas :

(A) Canada and North America

(B) Mexico and Ccntral America

(C) Australia and New Zealand

(D) Burma and China

Formation of one-grained spikelet is a

characteristic.feature of :

(A) Durum Wheat

(B) EmmerWheat

(C) EinkomWheat

(D) Common Bread Wheat

ln Crocus sativus, the commercially important

floral brgan used for flavouring is :

(A) Petal

(B) Samen

(C) Anther

(D) Stigma

Apple clonal rootstocks are commercially
propagated by :

(A) Mound Layering

(B) Cnafting

(C) Budding

(D) All the three

Walnuts are clonally propagated by :

(A) Stem cuttings

(B) Stembudcuttings t

(C) Root cuttings

(D) Patchbudding

I.ate blight ofpotato is caused by :

(A) Alternaria solani

(B) Aspergillus niger

(C) Albugo candida I

(D) Phytophthora infestans

The techniquc which is an alternative to
sedimentation and makes the process of separating

plant cellular components, from a solution, much

faster is :

(A) PAGE

(B) SDS-PAGE

(C) Centrifugation

(D) Chromatography

In a bright field compound microscope, the light
source aimed at a lcns beneath thc specimen is

called:

(A) Condenser

(B) Objective

(C) Eye piece

(D) Oracular lens

The unit for the amount oflight that a substance,

dissolved in solvent, absorbs at a specific
wavelength and measured by a spectrophotometer

is:
(A) Absorbance units

(B) Nanometres

(C) Gigahertz

(D) Millimetres

Curcuma domestlca belongs to family :

(A) Fabaceae

(B) Rubiaceae

(C) Laminaceae

(D) Zingiberacceae

t6.

11.

12.
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26.20. In case ofclonally propagated plante, the pathogen

free stock is produced by :

(A) Root tissue culture

(B) Stem tissue culture

(C) Meristem tip culture

(D) Pith tissue culture

Mruses that infect plants, have the genetic material
in the form of :

(A) Double stranded RNA

(B) Double stranded DNA

(C) Single stranded RNA

(D) Circular DNA

Imperfect fungi reproduce by :

(A) Oospores

(B) Ascospores

(C) Basidiospores 29.
(D) Conidia

ln Agaricus, reproduction takes place by :

(A) Fusion of isogametes

(B) Fusion of anisogametes

(C) Fusion of somatic cells

(D) Oogamy 
30.

Kanamycin is obtained from :

(A) Bacteria

(B) Cyanobacteria

(C) Fungi

(D) Myconhiza 31'

The plant body is a coenocytes in :

(A) Volvox

(B) Ectocarpus t

(C) Batrachospermum

(D) Vaucheria

In algae, the gametogenic meiosis is a salient
feature of :

(A) Diplontic life cycle

(B) Diplohaplontic life cyclA

(C) Haplontic life cycle

(D) Diplobiontic life cycle

In Marchantia, Gemma cups are produced on :

(A) Male thallus

(B) Female thallus

(C) Both (A) and (B)
(D) Sporophyte

The gametophyte in Funaria develops from :

(A) Oospore

(B) Prothallus

(C) Rhizome

(D) Protonema

The type ofstele, consisting ofcentral xylem with
radiating ribs and phloem in small patches in
between the radiating ribs of xylem, is known as :

(A) Actinostele

(B) Ectophloicsiphonostele

(C) Haplostele

(D) Amphiphloicsiphonostele

Pteridophytes are also called as :

(A) Cryptogams

(B) Vascular cryptogams

(C) Phanerogams

(D) Amphibians of the planr kingdom

Which of the following is true about Cycas ?
(A) There is one male cone and one female cone

on the same plant

(B) There is one male cone on the male plant
(C) There are many female cones on the female

plant

(D) There is one female cone on the female olant

27.21.

28.

23.

1A

25.
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32. The smallest three dimensional volume needed
to give full representation ofhorizontal variability
of soil, is termed as :

(A) pedon

(B) pedograph

(C) podsol

(D) podzol

33. Sulphur shower is a term associatedwith:
(A) Bryophltes

(B) pteriodophytes

(C) Gymnosperms

(D) Angiosperms

34. The pyramid ofbiomass in an aquatic ecosystem
is:
(A) Upricht
(B) Inverted

(C) Spindle shaped

(D) Either (A) or (B)
35. The biogeographic region oflndia extending from

Gujarat to north of Cape Comorin, is known as :
(A) Malabar

(B) Gangetic plains
(C) Deccan

(D) Nicobar

36. The pionecr species on bare rocks are :
(A) Fungi

(B) Lichens

(C) Algae

(D) Bryophytes

37. A duplicate ofthe holotype often collected from 
42.

the samc plant or from the same gathering iscalled: t

(A) Eprtype

(B) Isorype

(C) Syntre
(D) Neotype

JJ-320-D

3 8 . Bentham and Hooker have classified plants in their
book :

(A) Genera plantanun \
(B) Historia planrarum

(C) Species plantarum

(D) De plantis

39. Which of the hierarchical arrangement. in
ascending order of the taxonomic categories is
correct ?

(A) Species -) Genus _+ Order + Family
(B) Genus + Order _+ Family + Class
(C) Species -> Genus -+ Family _+ Order
(D) Farnily -+ Class _+ Order + Division

40. The principles of International Code of
Nomenclature (earlier known as ICBN) were laid
down in the Intemational Congress in 1975. held
at:

(A) Cambridge

(B) Paris

(C) Vierura

(D) Leningrad

In grasses the parts removed by the grazing of
herbivore, are regenerated by the activity of:
(A) Apical mcristem

(B) Lateral meristem

(C) Intercalarymeristem

(D) Permanent tissue

When the xylem and phloem, within a vascular
bundle, are ananged in an altemate manner on
different radii, the arrangement is called as :

(A) Endarch

(B) Conjoint open

(C) Conjoint closed

(D) Radial

f,
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43. Intcrfascicular cambium is formed

meristematic activitY of :

(A) MedullarY raYs

(B) Cortex

(C) PrimaryxYlem

(D) PrimarY Phloem

44. Which of the following stalemcnts is truc about an

isobilalcral leaf ?

(A) The slomata are prcsent only on thc upper

ePidermis

male gamctoPhYte of angiosPerms ?

(A) Two

(B) 'fhree

(C) Onc

(D) ManY

46. Transfer ofpollen grains from anther to the stigma 52'

ofanother flower ofthe same plant' is known as :

(A) Chasmogamy

(B) CleistogamY

(C) GeitonogamY

(D) XanogamY

47 . 'l-he hallow foliar structure, protecting the thoo' 
,3.

aPex, in a monocot embryo is called as :

(A) EPicotYI

(B) ColeoPtile

(C) Coleonhiza

(D) EPiblast r

by the 48. In Oranges, the pleural embryos develop from

the :

(A) Nucellar cells

(B) SYncrgids \

(C) AntiPodal cells

(D) Egg cell

49. Facilitated diffusion across a membrane is

required, for the substances which :

(A) Are soluble in liPids

(B) Have hYdroPhilic moietY

(C) Require ATP to move across the membrane

(B) Thc mesophyll is differentiated into palisade (D) Have hydrophobic moiery

and spongy parenchyma 50. What is true about C, plants ?

(C) I'he stomaB are prescnt on both upper and (A) They can not tolerate high tcmperature

lower epidermis (B) They have less productivity of biomass

(D) The stomah are prcscnt only on the lower (C) They lack a process called photorespiration

epidermis (D) They show response to low light intensities

45. I{ow many post meiotic mitotic divisions occur in ,,. In phloem transport, the source-sink relationship

IS:

(A) Unidirectional

(B) Bidirectional

(C) Multidirectional

(D) Invariable

The cYclic flow of electrons during

photo-phosphorylation results in the synthesis

of:
(A) AfP
(B) NADPH+HT

(C) Both (A) and (B)

(D) NADP-

Thc first product ofthe Krebs cycle is :

(A) Succinic acid

(B) Citric acid

(C) Malic acid

(D) Oxaloacetic acid

6
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54. Which plant growth regulator iS used tci preprlre 5g.
weed-free lawns ?
(A) ABA
(B) cA3
(c) BAP

(D) 2,4-D

During respiration the site for the metabolic -^
pathway, through which the electrons pa.s fro- )Y'

one carrier to anotler, is :

(A) Mitochondrialmatrix
(B) Inner mitochondrial membrane
(C) Inter-membranespace

(D) Outer mitochondrial membrane
For its activity, the enzyme nitrogenase requires :

(A) Anaerobiccondition
(B) HighamountsofAlp 60'

(C) Faredoxin

(D) All the three

The long protein chain folded upon itself like a
hollow woollen ball, give rise to its :

(A) Primary structure

(B) Secondary structure
(C) Tertiary structure

(D) Quatemarystructure

Which of the following is a nucleotide ?

(A) Uracil 
\

(B) Adenine

(C) Adenosine

(D) Adenylic acid

The purpose of emasculation in hybridization is to
prevent :

(A) Cross pollination

(B) Inbreedingdepression

(C) Mutation

(D) Self pollination

Selection of plants from those obtained through
self-pollination from single homozygous individual
is known as :

(A) Mass selection

(B) Artificial selection

(C) Natural selection

(D) Pure Line selection

55.
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l.'ftcupeotwulehndkinv,nichsnantofFhlm
ispm qtftot.o:rd on th€ @e mdiu side
by side is knom a :

(A) Biolaroal @dabEde
E) couarcEl wddbudlc
(c) cdmni! vMldbundle
(D) Radial veuttu burdl€

2, Chir pine is lhe onfun n@e ofj
(A) Pihus tubrryhii
(B) linus aUi.hiann

Q) Pinus tttr5ttit
3. cirdling lsfLre e dre inportanl IqtuB of:

(D) ry.a
4. Amgneft of|omr on tlEled@tc is qucd I

5. The t1otr6 in lh€ jlfrily Litis@e e:
( ) TnnmqepisDo6
(B) rdtomuxh}?os4ro
(C) Pe.ta@usepismu
(Dl PotuB, hrlogtdfu

6. rapoll€n ofa nokr falls on the sdg@ ot&oUrer
nomhclonsing torh. tuplet, il i. :
(A) E@losicatlyospouiirdon
(B) lolosicitlya gcreric,IycosDoUiturion t2
(c) Ccnedcally ser-loui.ation md tulogicalty

cNpollimrion
(D) Non€ olrhc a6ove

7 Pollinalion by Snails is knoM 6:

Tl€ inE&d owle in u,hich fiuicleadniftpyh lic

{^) cahgyloropouovlne
(B) Anphitoposoune
(c) ordDr@oNmle

TiE q@lity ofwarer lranspircd by a uit oflc.r
aM ofl*fsufae in a mil the is c,llcd :

$rho for rhc n6t dme domsted thc obwaton

(B) RJ. H. Dur.@her

Wlarwill b€ lhc seqMe ofev@ts, whco lhe plet

(A) Exosmosis, plasnotysis, tenpolary and

(B) E dosmosis. pleolysis, tcmpomiy ad
p@r,@twildns

(C) Exosnosis, deplamolrsis, plasnolysis,
ienpoEyed pomaMt qiling

(D) Exsmosis, plasnolysis, depta6olysis,
t.,npoEryad Fmmd qitling

Duinc *E op€ning of guard celts which oI rh€
followingc&u8Bduhlhec.{spoteuadels ?
(A) Ircree in omotic pesE b decEsin

@) De.@e in motic pr€$E bul inc@e ir

(c) hcrcin(modcpE$Eburde:cMe in
rrng(p6w

(D) DetEe ofomotic4 wn sturgorpes@

I t.
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tr.13. Cn@tcrislic synpton olblack nc.Gis of lhc
)oug lees and Fminat buds uBuauy $ifand
Mdest ds@clh6 rlE lBs ofapi@ldohjIre
ft asocialcd wnn defidmcy ofl

(B) Iodire

l,l. Duilg 24 hoc th@ is a line who ptafi6 neil\o
sivc @b.ndjoxide nor oxls.n. This ir th€ lime 6f:. (A) NEil
(B) Daylieh
(C) lilni8h
(D) Norcofrle

15, who has proved tbat oxyg.. evolved in
photosy hesismcsnorMr2
( ) RobcrHiu

(C) Rubcn, t asld dd (md
(D) E!ftEMadArnotd

\nhch oathe foltowinB ist1E ,b.sibbcc in ?
(A) cibbeElli6lnnu ce flomt w dctmrinalion
G) Cibb.Elline subsinrle tor@td RluiMcnr

lornomingi. malypianls
(C) CibbeEllin €uss stimulalionotrrxir s

Ncuual lipids slo,rd i" thc tm ol.tipid doptcl\ havc
a prclccrive pmkm ma fi atpMntsunrimcly tin,d
mob lizro. Tlc pdeir otrne 6r m tmcd rs :

Which of the followinC is not lruc abour

(A) Pa. G thc physiotogically aoivc lim ot.

(B) Pr G rh€ physiologica y acrivc torh ot

(C) Ihe clnomopbon ofphlochrcoe is a tincar

The moyement in rhc lcat of Touch Dc-n.t
(,lrir,s.) plful h knoM 6 :

Tle pcftenia8. otoxygq md €bon dioxidc in rhc
atn@phBe is:
(A) 20.95%and0.004%

(C) 20.00%edO.4o %

\rhch or thc iollowiiE e,I is prremd fo.cmns 1
tA) Srd!<.,r
(al sit *it

In Cr ad CAM plars the CO, txed by tEp
caboxylAe inro Cr eids is etesed bmt and ftd
to Cohin cycle by lnc ouJan€:

{A) Adddehydogeb&
@) N^Dr9 nali€ 0r4mc
(c) RLtsrSCO

WXich ofdr foilNingsnBim duineciEic eid
cycle @ accohpanied by etqsc ofCO. ?
(A) Irrmarar lonalah
(D) Malab lo oxato&ehrc
(C) d-Kcroglul.Elc lo Secinyl,CoA
(D) Seimrc to nmEr
Enzlmes ee biolosical cararysls that ohde the

( ) loweine liee e.elsy otMda6
(A) In@Eing 6ec fter8y ofpodrcls
(C) kwnnsetivalionsc€/ofthercmtion

2l



27

29

Pldts which sow undo shade @ calcd :

In pbnd 6osyncn, thc prramid ofbimGs is :

'l'!c baic pmccss inrctv€d ir succBion is :

(,\) Nudation > invasion+ anpelition and
@lion> mction > sLbilizlion

(B) hvasion > nudation-> conpetition ed
tudon> Ietion> stabili?ztion

(Cl Nudarion >srabilization >@mpeiitioned
G&Uon> inv6ion- > sclion

(D) hv6ion+ srsbiliarjor> @mpelnion tult
Gacdon >@lion> dahiliztion

Which oftne b&teria helps to oxidir nibiles
(N(, I into nihales (Nor ) in aNirrosen cwlc ?

IibEofsEat comcial impodmc derired Eom

(c) coi

P.6boilingolncc gEins b€foE miUinB6ns4c i

3l ThecaFsidolTMvismadcupofl
(A) I t30 motccuresof coarrmlcin
(D) 2l l0 molecules.tcoat prorein
(L^) 3l?0 notcculcs oto@t prorein
(D) lli0noteculcsof coaiprctcin

32 Cquosmof'lMvh:
( ) R2: l/5: Irp I x/S
(B) M:2/5: U[: s/A
(C) lvl : l/8: S/S: S/AI)
(D) R/l:2r: rrri: S/X

ll.,l/or.rErab.longst ictrof&ctullowingdilisioB

(C) Ildidiofr)@ta
(Dl DcurcmmFora

14. Pl.Iea staee or Cruciare srage is foud in x,hich ot

35. Thc fi6i land inh$id.s da$ m:

36. Which d@ in LrdiaiscatLngoldnincoflnmrcns ,l

(A) LalhHihataya
@) weslcm I Iimalaya

l?. r}e pmb$ele havina mr6tcorc $irh mdialiu nbs
or ste shapcd xylcm corc Nroundcd byDhtocm

{
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In Pldirloptrltq, rcdudion division ocs who :

(B) scxo,gesrefmcd

(D) cmctcs@hmed
The fluid likc sulskne of the Nclcus i. which
chsmdn botcrial, nul@16, ard olhtr panicdate
clm@ts olnEl€us m sup€nded in kbm s :

(D) Bod(A)4d(R)
Balbiei rinssinL\. Polytdechnmos(]rcEpBnl

(A) Polrschdldcsrrth6is

(C) RNA ard P@lcin Eflhsis

T[c gc.etic nut tion caued by indels ofa no of
nulotides in a DNAsequenc. thatis mt divisible

M.iosis has cvolnlion.ry sisnincmce b@se it

(A) GoedcalysiDiledalgh|E

(,! MilocbndriaqittDutnffi lIffi
0,) Mtochondriawilhoulimnmhae
(c) MnochondriawilhodourerDmbEE
(D) Mitoclstuliialplznidr
wlal h thc psbability ofall offspinss in tne cio$
Aa:@navins A': ph€nolr?e ?
(A) 0.50
(B) 0.75
(c) 0.25
(D) 1.0

DuinB $h ph*c ofth€ ccu cyclc nucl@ ud ccll

(B) M'Phsc

In a sed6pei, yeltowsd mloris (Y) L dmindl
ov{ gteo colo! (y) ed hmd scd shape (s) is
doninmt oEr stumkcn G). A 0os betNccn
YYSSxrlss yieids ycllow ound YlSs in thc l:
prcsenx who lr pld$ ar€ selfed, Ir, scsrcgaEs

(A) 9 y€llow bmd: gM shrunk€n
(B) 9,€Uow: I y€llow slmnken :3 C@ tued:

(C) I3 yellow DUd r3 s@ shMkcn
(D) 9 yeuow bmd:7 sEn shrulo

(A) Mdy g€n6 coUeclively @nol a pedcule

{B) One panofgm @ indepadenlly I6li Uc
exprcssion of dolho panof s€nc

(C) Onc pair ol eo6 enlmcB thc phcnoqpic
dlqsion ol,\erpalr oigtu

(D) One pair olscncs idepende.rly conliols a

Tt sequ€nccofsixnucholids($yoineadoinc-
drlminc<ic.) lhar is d Bscnlial part ola prcmorr
silc on DNA forLtucripdor io @ur in bacuia is

(c) PalindmicnEleorids

Ndcic acid hybnds cm bc nmcd bcltron l
(A) 'fwost ds ofRN 
(B) ]e str"ndsofDN^
(C) One sltud oIRNA and onc stmd. |DN 
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50. Tte DNA sequcncc lo unich RNA polymeGes
binds io initiarc tusc.iplion ofa sm is c.lled :

Bmlhm sd IIookcrclNi6cd Dicols inlo :

(A) Polr?c1rl&,eeoDelal@a Clmino@
(B) Polr!.BlaqcdopeEla.mdMmlimjd&
(C) Archichlamydae, Monochldydae md

@) Archehlmydae and monNblsyd&
ln wnidrofthe Gmilicq tl*6a@imis bicarpeUary

d syncarpou bur olary is unilocdtr with b6al

A noncnclarEal t}?e in which one spcim€n or
iuBlralion upon wbicn a nmc h basd oriEin ll,
ued m desismr.d a $e dme ofpublic.rion is :

.t K (5) C (5)42+2 G (2) is thc floral lomlla of:

'lhc cclls olrhc quic$ent centre m ch@ierized

(A) Ilaving ligt'lcllopl,m and tuU nudci
(B) Haling lishlcytopl,m ad promiMnuks
(c) DividirsEB dly ro add ro thcruica
(Dl Dividins EgLndly ro add b 1he coDu

OrSmi?.tim olslon apcx into co,?N md thio is

(A) Plmofendivision
(B) R.gionsofmistiaric&liviiy

@) R.te ofshoor tip go$1h
Oulofdimse porcus wood md nng poous wmd

(A) ningpoDuw.d mi6nGwierfor shon

(B) tuns porcu wood cuies morc watcr $hn

(c) D ne pmu rood cMies moEwalcr
(D) Diflse porcu wood is less spccialird bul

condrct MhEpidly

(c) rlElfaqrarmbim

As lne tEe ercq which oflhc lollowing in@&s

W!^ napFIB in plers duine la$ulaiztion ?

( ) DffeMtidion ofpocmbium. followcd by
fomation ofp.inary phloem &d primar,

c8) Difllmtadon ofprocmbim, iolmtion or
pii@ry phloem followed by romation ol

(C) Fomation ofpmmbim. prinary phlom
andpdneyxl,lcmsin l,@ly

(D) DifaeEnliation olprccambium followed by
lomotion of $conda.y xylm

6















sr. No. ......LS.9.*,

ENTRANCE TEST:20I7
SCHOOL OF BIOLOGICAL SCIENCES

BOTANY J

Total Questions :

TimeAllowed :

60
70 Minutes Roll No. :

Question Booklet series B

1.

2.

3.

4.

5.

6.

Instructions for Candidates :
Write your Roll Number in the space provided 

"i 
th. l"p 

"iihir 
pug. of euestion Booklet and fill up thenecessary information in the spaces provided on the oMfr eni*e, sleet.

oMRAnswer Sheet has an original Copv and a Candidate's Copy glued.beneath it at t4e top. While makingentries in the orisinal copy, cindidatei ihould ilur; ti;t ttteiwd"opies are alideapr;perii;;ffi th.entries made in th; orisidic.ty-;g;id';;;ild;;;;;i;;ilt#i;',j#ifrf,itu,",, copy.

All entries in the OMRAnswer Sheet, including ff$wers to questions, are to be recorded in the Original Copyonly.

Choose the correot /,lo^-tt--1!p..opriate response for each question among the options A, B, C and D anddarken the circle ofthe apprbpriite.esponie 
"".+pt:t"tv.i[9];il;i&",i;rk"il; circll ij;"il;;;iyread by the OMR Scannei and no compiaint to thiieffeci rfruii U" entertained.

Uq9.o.nly blue/black ball po.int pen to darken the circle of correct/most appropriate response. In no casegel/ink pen or pencil shoul-d be used.

Do not darken more than one circle of options for any question. A question with more than one darkenedresponse shall be considered wrong.

There will be 'Nesative,Marking'.for wrong answers. Each wrong answer will lead to the deduction of0.25 marks from tfr'e total score o?ttt" 
"uaiAit".

Onlytlrose candidates who would obtainpositive score in Entrance Test Examination shall be eligible foradmission.

7.

8.

9. Do not make any stray mark on the OMR shejet.

10. Calculators and mobiles shall not be permitted inside the examination hall.

I 1. Rough work, if any, should be done on the blank sheets provided with the question booklet.

I 2 ' OMRAnswer sheet must be handled carefi.rlly and it should not be folded or mutilated in which case it will notbe evaluated.

I 3 ' Ensure that your OMR Answer Sheet has been signed by the Invigilator and the candidate himself/herself.

14' At the end ofthe examination, hand over the OMRAnswer Sheet to the invigilator who will first tear offtheoriginal OMR sheet in presence of the Candidate and hand over the Candid"ate's Copy to ihe ;;,d;;
DAJ-1U06-8

[Turn ovcr

l(,



1. In living system the cell membranes are composed of 6'

tipids and proteins in which of the following

proportion ?

(A) Lipid molecules are more in number than

proteins

(B) Protein molecules are more in number than

lipids

(C) Sometimes lipid molecules are more in number

and sometimes proteins are more in number

(D) The number of lipid and protein molecules is

, always equal -

Ifthe trans positioned crp regulator gene oflac operon

is mutated and produces a defective protein (CAP),

this mutation will result in:

(A) Constitutive expression of lac operon

(B) Inducible expression of lac operon

(C) Permanent switching off of the lac operon 7 '

(D) Upregulation of lac operon

If the promoter of a structural gene is detached from

the cis position and is placed at a distance (trans

position) from the structural gene in the genome, the

structural gene will:

(A) Show overexPression 8.

(B) StoP exPressing/ functioning

(C) ShowunderexPression

(D) No effect on exPression

4. Identical copies of a gene which occur on different

loci on non homologous chromosomes in a cell or

organismare: 9.

(A) Alleles (B) Isoalles

(C) Pesudoallelles (D) Multiplealleles

5. A cross between ropnd and yellow pea (RRYY) and

wrinkled and green pea (rryy) produce FI which is

round and yellow (RrYy). If this plant with RrYy

genotype is crossed with a plant having genotyple rryy

what will be the genotypic and phenotypic ratio of the

off springs ?

(A) 9:3:3:l

(C) 3:I

DAJ-11106-8

Replication and transcription are polymerization

processes where DNA acts as template and new

polynucleotides are synthesized by DNA polymerases

in replication and RNA polymerases in transcription'

On an average one wrong nucleotide is incorporated

in replication and transcription per:

(A) 107!ases copied in replication and 104 bases in

transcription

107 bases in replication and 10e bases in

transcription

10e bases in replication and 107 bases in

transcription

104 bases in replication and 103 bases in

transcription

Degeneracy of genetic code is:

(A) Many codons coding for same amino acid

(B) A single codon coding for many amino acids

(C) Only one codon coding for one amino acid

(D) None of the above

The role of DHU arm of IRNA during translation is:

(A) BindingoftRNAwithsmallsubunitofribosomes

(B) BindingoftRNAwithlargersubunitofribosome

(C) BindingoftRNAwithaminoacylsynthetase

(D) Binding of tRNA with peptidyl transferase

Duringtranslationthe first amino acids which initiates

polypeptide sYnthesis is:

(A) Methionine in both eukaryotes and prokaryotes

(B) Formylmethionine in eukaryotes and methionine

in Prokaryotes

(C) Methionineineukaryotesandformylmethionine

in prokaryotes

(D) Formylmethionine in both eukaryotes and

prokaryotes

(B)

(c)

(D)

2.

a

(B) 1:1:1:l

(D) r:2:r

2
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10. Which of the following statements is incorrect ?

(A) The rnRNA of prokaryotes is not processed

(B) mRNA is monocistronic in eukaryotes while

polycistronic in prokaryotes

(C) Shine Dalgarno sequence ofprokaryotic mRNA

is complementary to 3 end of 16s rRNA

(D) Shine Dalgarno sequence ofprokaryotic mRNA

is complementary to 5 end of 16s rRNA

1i. Which of the following represents the correct position

of gymnospeims in Bentham and Hooker's system of

classification ?

(A) Dicots, gymnospeffns, monocots

(B) Gymnosperms, dicots, monocots

(C) Monocots, gymnosperms, dicots

(D) Dicots,monocots, gymnosperrns

12. In the taxonomic hierarchy the correct sequence of

categories in a descending order is :

(A) Kingdom, division, order, class, family, genus,

species

(B) Kingdom, division, class, family, order, genus,

species

(C) Kingdom, division, class, order, family, genus,

species

(D) Kingdom; class, division, order, family, genus,

species

13. In Talthtajan's system of classification the woody

plants are treated as :

(A) Advanced compared to herbaceous plants

(B) Neither primitive nor advanced compared to

herbaceous plants

(C) Primitive compared to herbaceous plants

(D) Some are primitive and some are advanced as

compared to herbaceous Plants

An illegitimate binomial like Solanumsolanum wherc

both the generic name and specific epithet are the same

is called as :

(B) Synonym

(D) Basionym

14.

15. When petiole of a leaf is modified into a flat leaf like

structure to minimize transpiration and bring about

photosynthes'is, it is called as :

(A) Cladode (B) PhYllode

(C) Phylloclade (D) Petiolode

16. An incomplete flower is :

17.

(A) Always without accessory whorls

(B) Always perfect

(C) Always imperfect

(D) May be perfect or imperfect

Parthenocarpic fruits are :

(A) Always seedless

(B) Always seeded

(C) May be seedless or seeded

(D) Formed frorn whole inflorescence

Which of the following feature does not pertain to

family Brassicaceae?

(A) Cruciform corolla

(B) Basal placentation

(C) Tetradynamousandroecium

(D) Fruitsiliqua

Caryopsis is the characteristic fruit of family:

(A) Autonym

(C) Tautonym

(A) Asteraceae

(C) Liliaceae

20. The wood of Cycas is:

(B) . Solanaceae

(D) Poaceae

18.

19.

(A) Manoxylic and Monoxylic

(B) Pycnoxylic and Polyxylic

(C) Manoxylic and Polyxylic

(D) Pycnoxylic and Polyxylic

3
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27.

2l . The periderm is having the following sequence of layers 25.

starting from outside:

(A) Phellem,phellogen,phelloderm

(B) Phelloderm,phellogen,phellem

(C) Phellogen,phelloderm,phellern,

(D) Phellem,phelloderm,phellogen

22. In dicots the procambium gives rise to:

(A) Fasicular cambium only

(B) Interfasicular cambium only

(C) Primary xylem; primary phloem and

interfas icu lar cambium

(D) Prirnary xylem; primary phloem and fasicular

cambium

Duramen is:

(A) Physiologically functional light coloured primary

xylem

(B) Physiologically non functional dark coloured

primaryxylem

(C) Physiologically functional light coloured

secondary xylem

(D) Physiologically non functional dark coloured

secondary xylem

In angiosperms after sporogenic meiosis, how many

mitotic divisions are required for the development of

amature male and female gametophyte (normal type):

(A) 3 for male gametophyte and 2 for female

gametophyte

(B) 3 for male gametophyte and 3 for female

gametophyte

(C) 2 for male gametophyte and 2 for female

gametophyte

(D) 2 for male gametophyte and 3 for female

gametophyte

Which of the following statements is incorrect about

angiosperms?

(A) Megaspore is not shed from megasporangium

(B) Both the gametes discharged from pollen tube

bring about ferti lization (Doub le fertilization)

(C) The ploidy ofprimary endosperrn nucleus varies

from 2n to 9n and this variation in ploidy is

determined by the contribution of female

gametophyte only

(D) Fertilization occurs by zooidogamy

26. In most of the hydrophytes pollination is brought about

by'

(A) wind or insects (B) .water

(C) snails ' (D) fishes

Self incompatibility is abarrierwhich prevents mating/

fertilization between:

(A) Individuals of different species

(B) Genetically close individuals of same species

(C) Individuals of same species differing in their

size

(D) Genetically very different individuals of same

species

The deficiency symptoms ofcalcium and iron elements

occur:

(A) Simultaneously in both older and younger leaves

(B) First older leaves then younger leaves

(C) First in younger leaves then in older leaves

(D) In only older leaves as calcium and iron mobilize

from older to younger leaves during deficiency

The role of Molybdenum in plants is:

(al It is part of PS II in chloroplast

(B) It is part of cytochrome oxidase in mitochondria

(C) It is important component of enzyme nitrate

reductase

(D) It is part of enzyme RUBISCO

24.

28.

29.

4
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30. A very high accumulated internal CO, concentration
in leaf and low pH in guard cells can cause:

(A) Stomatal closure

(B) Opening ofstomata

(C) No effect on stomatal mechanics

(D) None of the above

The log phase of growth conesponds,to:

(A) Phase of celldivision

(B) Phase of cell elongation

(C) Phase of cetl maturation

(D) Allofthe above ,

A chloroplast if illuminated with light consisting of
radiations of 690nm only will:
(A) Show both cyclic and non cvclic

photophosphorylation

(B) Onlynoncyclicphotophosphorylation

(C) Onlycyclicphotophosphorylation

(D) First cyclic then nbn cyclic
photophosphorylation

The cell organelles which are involved in
photorespiration along with their,correct order of
action in the process are:

(A) Chloroplast>Mitochondri* Golgi apparatus

(B) Chloroplast>Mitochondria>peroxisome

(C) Chloroplast>peroxisome>Mitochondria

(D) Mitochondria>Chloroplast>peroxisome

If under a particular set of conditions all the NAD of
an eukaryotic cell is reduced into NADH, the pace of
Kreb's cycle will

(A) Not be affected

(B) Slow down considerably

(C) Speed up

(D) None of the above

In the electron transport chain of mitochondria, the
complex which doesn,t pump protons outside into thc
inter membrane space is:

(A) NADH Dehydrogenase complex

(B) Succinatedehydrogenasecomplex

(C) Cytochromebccomplex

(D) Cytochrome oxidase complex

The geneticilly dwarf mutants can be induced to
become tall by exogenously spraying:

31.

) /..

35.

36.

)t.

(A) Atrxins

(C) Cytokinins

(B) Gibberlins

(D) Ethylene

A tourist finds a plant (not a day neutral one) in full
bloom in a garden in summer when day length is about
l5 hours, this plant is:

(A) Necessarily a long day plant

(B) A Short day plant

(C) May be short day or long day planr
(D) None of the above

The hormone which is anti apical dominance is:

33.

38.

39.

(A) Auxins

(C) Cytokinins

(B) Gibberlins

(D) Ethylene

The enzyme nitrogenase is found in:

(A) Allprokaryotes and some eukaryotes

(B) Some eukaryotes and some prokaryotes

(C) Some prokaryotes and no eukaryotes

(D) Some eukaryotes and no prokaryotes

Soil texture ofa field can be changed by:

(A) Ploughing it

(B) By moving trucks over it
(C) By adding organic matter to it
(D) None of the above

In soil profile the zone of eluviation is:

(A) Arlayer ofAhorizon
(B) A, region ofAhorizon
(C) B, region of B horizon

(D) B, region of B horizon

40.

a,)+-

41.
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42. I{elophltes areplants:

(A) Which grow in shade

(B) Which grow under sunny conditions

(C) Which grow in marshy swamps

(D) Which grow on rocks

43. In logistic equation of population growth when K

becomes equal to N; (K:N):

(A) There is no further increase in population size

(B) Population starts increasingexponentially

(C) Population size starts declining sharply

(D) The value of r increases tremendously

44. Ecological succession which begins on a virgin

substratum where no plant life had occurred in past

is:

(A) Primary succession

(B) Secondarysuccession

(C) Cyclic succession

(D)' Retrogressivesuccession

45. Succession is apredictable process and thus you can

predict which serial stage follows the other. In a

xerosere occurring on rock surface the moss stage

will be followed by:

(A) Crustose lichens stage

(B) Herbaceous stage

(C) Shrub stage

(D) Forest

46. Phenology refers to:

(A) Study of timing of occurrence of events or

developmental stages in the life cycle of a plant

Study ofphenotype ofan organism

Study of pollen grains

Study of phenerogalns

In community ecology, physiognomy is evaluated as:

(A) Analyticalquantitativecharacter

@) Analyticalqualitativecharacter

(C) Syntheticcharacter

(D) No community attribute at all

Podophyllum plant is'.

(A) Annual herbaceous fern endemic to Western

Ghats

(B) Annual herbaceous angiospenn endemic to

Himalayas

(C) Perennial woody angiosperm endemic to

Himalayas

(D) Perennial herbaceous angiosperm endemic to

Himalayas

Artemisia plant in Kashrniri folklore is used as an:

(A) anti-pyretic

(C) Anti-allergic '

(B) Anti-helminthic

(D) Antiseptic

In jute plant the cells which are extracted as fibrc of

commerce are:

(A) Xylaryfibres (B) Bastfibres

(C) Fibre tracheids (D) Libriform fibres

Tobacco mosaic virus has:

(A) Cuboidal symmetery, 2013 capsomers and

dsDNA

(B) Helical symmetery,2130 capsomers and ssDNA

(C) Helical symmetery 2130 capsomers and ssRNA

(D) Cuboidal symmetery, 1320 capsomers and

ssRNA

Which of the following pairs of thallophytes has

coenocytic thallus?

(A) Puccinia and Ectocarpus

(B) VaucheriaandMorchella

(C) PhytophthoraandVaucheria

(D) BatrachospermumandPhytopthora

47.

48.

49.

50.

51.

52.

(B)

(c)

(D)

6
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53. The dikaryophase of Puccinia graminis tritici occurs

on:

(A) Wheat which is its secondary or alternate host

(B) Wheat which is its primary host

(C) Barberry which is the primary host

(D) Barberrywhich is its secondaryhost

54. The sporophyte of Ectocarp,rs bears both plurilocular

and unilocular sporangia to give rise to zoospores which

develqijilihto new.plants. Which of the following

statements is not true about ectocarpus ?

(A) Meiosis.oocurs in plurilocular sporangia to form

haploid zoospores

(B) Plurilocular sporangia produce diploid zoospores

(C) Zoospores from Unilocular sporangia form

. haploid plants

(D) Zoospores from both type of sporangia produce

. morphologicallysimilarplants

55. The heterospory is a phenomenon which occurs in
alt

(A) Spermatophytes (B) Thallophytes

(C) Cryptogams (D) Tracheophytes

56. In plant kingdom outside algae the only plant which
shows pyrenoids in its chloroplasts is:

(A) Marchantia (B) Anthoceros

(C) Polytrichum (D) Funaria

57. Which of the following statements is not true about
pteridophytes ?

(A) The plant body is a well differentiatcd
sporophyte

(B) They show sporogenic meiosis

(C) The gametophyte is not dependent on

spgrophye

(D) They don't need water for fertilization

58. Which of the following is commonly known as club
moss ?

(A) Polytrichum (B) Funaria

(C) Lycopodium (D) Anthoceros

The biosynthesis of ribosomes in eukaryotes occurs
in:

(A) Nucleoplasm

(B) Nucleolus

(C) Cytoplasm

(D) All ofthe above

The nucleosome core particle consists of:

(A) 2 copies each of H2A, qB, H,, Ho histones

and 146 bp of DNA

@) 2 copies each offl,, H2A,I{28, H, histones and

146bp ofDNA

(C) 2 copies each of I!A, FLB,q,Ho histones and

200bp of DNA

(D) One copy each of FlA, FI,B, fL, H_ histones

and 146 bp of DNA

59.

t
f;
?,60.
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M.Sc. Botany/B
l. The first natural planl cytokinin that was isolated from maize is :

2. Which ofthc tbllowing is principle blue light receptor in planrs ?

(A) Zeatin

(C) BAP

(A) Phytochrome

(C) Pheromone

(A) A'horizon
(C) 'C'horizon

f'requcncy value (%) of:
(A) 0-11

(c) 61-80

(A) Upright

(C) Irregular

(A) Haematitc

(C) Kaolinite

(B) Kinetin

(D) Ortho-topolin

(B) Crvptochrome

(D) Allofrhese

(B) Mesotherm

(D) Ilckislotherm

(B) Lirnonite
(D) None ofthe above

(B) 'ts horizon

(D) 'O horizon

(B) Invcrled

(D) Spindlc

3. Tropical rain forests on th(j basis oftcmperature conditions can fall into one of
the following classcs :

(A) Megatherm

(C) Microtherm

)

4. Hrdrolr sis ofonhoclase (a clay alumino-silicate) gjves risc to :

Iliuviation occurs in which ofthc soil horizon l

6. According to Raunkiaer's (1934) five frequency classes, the class .D,has 
a

(B),1r-60
(D.) 21-30

8.

\Vhich ofthe following sequencc reprcsents general process ofsuccession:
(A) Migrarion, Nudation, Ecesis, Aggregatjon. Coacrion and Stabilisarion
(l]) Flcesis, Migration, Nudation, Coaction, Aggregation and Stabilisarion
(C) Nudation. Migralion, I.lcesis, Aggegatioi, Coacrion and Stabilisation
(D) Migration,Aggegation, Eccsis,Nudation. Coactionand Stabilisation

In a grassiand, shapc ofa biomass pyramid is :

cNw-25330_B 2



9. Pafts of Podophyllum hexondrwh rsed for extraction ol.active principle ofdrug
podophyllin arc :

(A) Srem and leaves

(C) Roots and rhizomes

10. Botanical name ofwhitejute is :

(A) Corchorus capsularis
(C) Colchor s i,elcoli

I I . The scientist u/ho gave first rime the crystalline lbrm ofplant virus (TMV) and

uas awarded noble prize in l94ois:
(A) W. M. Stantey (B) D. Iwanowski

(C) A. E. Mayer (D) M. W Beiierinck

12. Cyanobacbria resemble bacteria in having :

(A) 70S ribosomes

(C) Peptidoglycan watl

(B) fruits and seeds

(D) t,caves and fruits

(B) Corchot.us olitori s

0)) Linum tsitatissimum

(B) Naked DNA

(D) All the above

13. During life cycle ofblack stem rust fungus, the basidiospores produce :

(A) Dikaryoric mycelium on wheat leaves

(B) Dikaryotic mycelium on barberry leaves

(C) Monokaryotic mycelium on barberry leaves

(D) Monokaryotic rnlcelium on wheat leaves

14. The alga which can possibly be used in

oxygen is :

(A) Ahahdena

space flights for regular supply of

(B)

Chlamydomonas

Elater mechanism ofspore dispersal is found in :

(A) Riccia (B) Funaria
(C) Marcluntia (D) polytrichum

(C\ (-hlorella (D)

15.
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16. What type ofspores are present in Bryoph)'tes ?

11.

(A) Haploid in nature

(C) TriPloid in nature

Eqri.relem differs frorn Funaria inhaviry

(A) Motile spore

(C) An indePendent gametoPhlte

20. Semi-autonomous organelle in the cell is :

(A) Peroxisomes

(C) Endoplasmicreticulum

2t.

23. The dihyb d test cross ratio is :

(A) 9:3:2:1

(C) l:1: t:1

Well developed vascular system

Archegonia

:

(B)

(D)

(B) Diploid in nature

(D) Tetaploid in nature

(B) ChloroPlasts

(D) Golgi bodies

(B) 9:3:2:2

(D) 9:3:3:l

18. The Amphiphloic siphonostlele shows that :

(A) Phloem is present on both extemal and intemal sides of ihe xylem

(B) Phloem is present on the inner side of xylem only

(C) Phloem is present on the outer side of xylem only

(D) Phloem is present in the centrc surrounded on both sides by xylem

19. The protein "packaging plant" in the cell is :

(A) Golgi apparatus (B) Mitochondria

(C) Lysosomes (D) Endoplasmic reticulum

22.

lndicate the correct answer in meiosis :

(A) Chiasmata are formed before metaphase I

(B) Chiasmata are formed before metaphase II

(C) Chiasmata are eliminated until anaphase I

(D) Chiasmata arc eliminated during anaphase I

Which ofthe following biomolecules has a selfrepair mechanism ?

(A) DNA, RNA and proteins (B) DNA and RNA

(C) DNA only (D) DNAandproteins



:1. Inhe tance ofABO blood groups illustrates :

(A) Polyploidy (B) Epistasis

(C) Linkage (D) Multiple allelism

15. A gene which affects the character ofanother gene not located on similar locus

ofthe homologous chromosomc is called :

26. What is th; probability ofoffsprings for the crossAa x aa having A phenotype ?

(A) Duplicate gene

(C) Epistatic gene

(A) 0.25

(c) 0.75

27. Which ofthe following possesses

(A) Komberg enzyme

(C) Taq DNA polymerase

(B) Complementary gene

(D) Supplementary gene

(B) 0.50

(D) r.00

both 5-' - 3' and 3' 5' exonuclease activity :

(B|. DNA polymerase III
(D) None ofthese '

19.

18. The first engineered plasmid vector is :

(A) pBR 322 (B) pUC vectors

(c) psc 101 (D) PUCI9

The enzyme involved in amino acid activation du ng protein synthesis is :

(A) AIP synthetase (B) Aminoacylt-RNA syrthetase

(C) Aminoacyl t-RNA synthase (D) Aminoacyl r-RNA synthetase

What key feature ofTaq pollmerase allows PCR to be conveniently performed ?

{A) Taq pol)merase does not require primers

(B) Taq polymerase does not require a template

(C) Taq polymerase is rot damaged by heating

(D) Taq polymerase can work at very low temperaturcs

l0

3 I . The term Ta,xonomy was first coined by :

(A) Carolus Linnaeus (B) 1'hcoprastus

(C) John Ray (D) A. P de Candolle

32. A binomial in $'hich the

spelling is called :

(A) Synon),rn

(C) Tauton),rn

genus name and the species epithet are identical in

(B) Auton)m

(D) Basonym

-5-
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33.

34.

Natural system ofclassification differs Aom artificial system ofclassification in :

(A) Taking into account only vegetative chancters

(B) Taking into account all the simila ties between plants

(C) Taking into account only floral characters

(D) All ofthese

The specimen or illustration upon which a name is based' originally used or

designated at the time ofpublication is called :

35. Cruciform corolla alld tetradfEmous stamens are characteristic featurcs offamily :

(A) Lectotype

(C) Holotype

(B) IsoRPe

(D) Neotpe

@) Brassicaceae

(D) Solanaceae

:

(B) Asteraceae

(D) Lamiaceae

(A) Malvaceae

(C) Papilionaceae

36. tn the family Ranunculaceae, the stamens are:

(A) Spirocyclic,mo[othecus,extose

(B) SPirocYclic,dithecus,cxtrose

(C) Spirocyclic,dithecus,inttose

(D) Spirocyclic, monothecus, introse

37. Cypsela fruit is a characteristic featue in

(A) Poaceae

(C) Bmssicaceae

38. Pr,, A,,r G.l is the floral formula of I

(A) Poaceae

(C) Liliaceae

39. The Tunica corpus theory was proposed by :

(A) Nageti

(C) Schrnidt

(B) Solanaceae

(D) None of the abovP

(B) Hanstein

(D) Hotneisler
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,10. T}i.3iis oia meri$ematic tissuehave:

A t Thinu'alls andno interc€llularspaces

tB) llighly vacuolated cyioplasm

(C) Large sized nuoleus and active cell division

(D) All the above

]L

12.

The prop roots of Banyan tree arc meant lor :

(A) The retention ofwater in soil

(B) Providing mechanical support to the big size oftree

(C) Absorption ofwater from soil

(D) Absorption ofair from atmosphere

'l'he zone ofslowly dividing cells in the middle ofhighly meristematic cells in

root apex is called :

(A) Vegetative zone

(C) Quiescent centre

-+3. What are the PaI1s ofPeriderm :

(B) Corpus cente

(D) Somatic zone

(A) Phellogen, periblem, Plerome

(B) Dermatogen,cortex,Phelloderm

(C) Phellem, phellogen, phelloderm

(D) Periblem,phallogen,phelloderm

Conjoint, collateml and

found in :

(A) Moiocot root

(C) Moriocot stem

closed vascular bundle scattered in ground tissue is

t

.+.1

45. Vascular bundles of Cycas are :

(A) Conjoint, collateral and closed

(B) Conjoint, collateral and oPen

(C) Conjoint, bicollateral and closed

(D) Conjoint, bicollateral and open

Wings in Pinas seed develoPs from :

(A) Bract scale

(C) Coneaxis

(B) Dicot root

(D) Dicot stem

(B) Ovuliferous scale

(D) Seed coat

7

46.
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49.

50.

47. A monocarpic piant is that which :

(A) prodr:ces only one seed per iluit
(B) produces only one fruit in its lii.e cycle
(C) Produces only one carpel in its flower
(D) Flowers only once in its life cycle

48. Pollinarion by ants is called :

(A) Matacophily

(C) Aremophily
(B) Myrmicophily

@) Omithophity

(B) Molybdenumdeficiency

(D) Caicium deficiency

(B) Tylosis

(D) Vaporization

@) Pohssium

Curved olule with horse-shoe shaped embryo sac ard with micropyle, chalaza and
f.micle lie near each other is called :

(A) Amphitropous ovule (B) Anatropous ovule
(C) Hemianatropous ovule (D) Circinotropous ovule

Which fruir is a type ofnut :

(A) Walnut

(B) Cashew nut

(C) Ground nut

(D) ArFca rut

Whiptail disease in pJants such as cauliflower or broccoli, in \ahich the leaves
appear twisted and subsequently die, is associated with :

51.

52. Formation and expansion ofa gas bubble in the xylem. that breaks the continuity
ofthe water column and prevent water transport is known as :

(A) Nirrogen deficiency
(C) Zinc deficiency

(A) Guttation

(C) Embolism

53. Amongfollowing inorganic solutes which one is relatively immobile inphloem :lA) calcium (B) Magnesium
(C) Clnoride
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5,1. Which oflollowing is tlue about water ?

(A) Higher specific heat helps plants buffer tempemtuie fluctuations

(B) Higher latent heat ofvapodzation helps plants to cool themselves

(C) Higher dielectric constantmakes it a good solvent for ionic compor-rnds

(D) All ofthese

5 5. All chlorophylls have a ring structure related to the poryhyrin and a hydrocarbon

tail attached to the ring stucture. Chlorophyll b differs from Chlorophyll a in :

(A) Chlorophyll b has a CHO group attached to ring

(B) Chlorophyll ahas a complex ng structure

(C) Chlorophyll b has a long hydrocarbon tail

(D) None ofthese

56. Which ofthe following is a water soluble mobile electron carrier in elecfon

tansport chain ?

(A) Plastoquinone

(C) Plastocyanin

(B) P68o

(D) C),tochome b6f

57. Conversion ofglucose to pyruvate in glycolysis gives a net yield of:
(A) IATP (B) 2 ArP
(c) 4ArP (D) 6 ATP

58. Formalion ofnl P in lhe pay oll phase ofglycol)sis is an example of:
(A) Oxidativephosphorylation (B) Photophosporylation

(C) Subshate level phosphorylation (D) Fermentation

59. Which of the following enzymes is required only during the p-oxidation of

unsaturated fatty acids ?

(A) Dehydrogenase (B) Hydratase

(C) lsomerase (D) 'lhiolase

60. Low K. (Michaelis-Menton constant) value signifies that the enzyme :

(A) Has higher affrnity for the substate

(B) Is inemcien(

(C) Has lower affinity for the substrate

(D) None ofthese

aNw-r{11(LR



2014



































3. Nothotaxa arc :

[  
(A)  Rarc  tax i r

*  t t ' l  I l y b r i d  t a x a

I
)
I  

4 .  I  hc In tcnrat ional  ( 'odc o l '
t (.t) 'Il.rree 

I)rinciplcs

(C) l.Jinc Principlcs

M.Sc. I lotanr'/ l ]
I . Three series recognizecl b1'Ilcntham and [ fooker under Gamopctalae arc :

(A) Thalmiflorae. [)isciflorac a:rd Inferae

(B) I leteromcrac, Calyciflorae and Ilicarpellatae

(C) Inferac, Caly,ciflorae. Disciflorae

(D) Inlbrae, I Icteronrcrac and Ilicamellatac

2.  O f [J  s tands lor :

(A) Opcrational ' IaxonomictJnit

(B) Optional'la.xononric ( Jnit

(C) Observecl'laxonornic [Jnit

(D) Obvious'lir-ronornic[Jnit

( l l )  I iossi l t i rxer

O) I..nclcrnic tzxa

Ilolanical Nomcnclatt

5. Hypanthium is a characteristic lbaturc ol-:

(A) Ranunculaccac (ll) Ilrassicaceac

(C) Rosaccae (D) Magnoliaccac

6' Aruhidopsi.s lluliunu. thc cxtcnsivclv studicd modcl plant in plant biology. bclongs

t o :

(A) La.miaccac (R) Ilrnssicaccac

(C) Iridaccac (D) Rosaceac

7 . J'hc two leads of a couplct in a dichotomous kcv shoLrld bc :

(A) Mutuallyexclu-sive (ll) Mr-rtmllyinch,r.sivc

(C) Overlapping (I)) None ol'rhc above

rrc hers :

(ff) Six Principlcs

( f ) ) ' l r v c l v e l ) r i n c i p l c s
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8. Wlrich ol'the {bllou,ing is not a characteristic of Magnoliu?

(A) lrlongaled lloral axis bearing numcrous spirally arrangcd stalnens

Gf) limit is an aggregale of follicles

(C) N4onosulcatc pollen gains

(l)) Multicarpellzirysvncarpous glmocciurn

9. Cclls in thc 'QLlicsccnt Ccntre' oI'the root apical meristcm havc :

(A) I Iigh mikrtic activity (f ]) Low rnitoric acrivirl'

(Cl) Vcry high rnirotic acrivity (D) All ol-rhc abovc

I 0. z\ xylcnr librc usually with thick r,valls and simple pits is a :

(A) Librifbrm llbrc (ll) Itibrc trachcid

((l) Sclcrotic ljbre (f)) Ilast flbrc

I I . Alburninous cclls arc associated with :

(A) Sicr c-tubc ccl ls (B) Sicvc-tubc mcmbcrs

(Cl; Sicvc ccl ls (D) Nonc of the abovc

12. A vascularbundlc in w'hich phlocm occurs on cithcr sidc of xylcrn is known as :

(A) (lollatcral vascr,rlar br.urcllc

(ll) Ilicollatcral vascularbtmdlc

(C) C'onrmissural va^scular br,rndlc

(f)) Apotrachcal vasculzr bundle

I 3. Malc sarre toph,vtcs (rnicrosporcs) in liphcclru ttrc dispcrsccl at :

(A) 2-ccllccl stagc (B) -i-cellcd stagc

(C) 4-ccllcci stagc (D) 5-cclled sragc

14. Ilach ovulilbrous scalc in I'intts mostly bears :

(A) One ovulc

(C) 'l 
hrec ortrles

(tl) 'lwo 
ovules

(D) F'our ovules

czB-29813(tr) [ ' l  urn ovcr



I 5. Development of embryo in g;alnospeffns is gencrally :

1 (r. A ccll in root epidemis that givcs risc to a root hair is callcd as :

(A) Meroblastic

(C) Discoblastic

(A) Iciioblast

(C). Sclcrcid

(A) I Icxaploid

((l) I)iploid

(A) Polygonum type

(C) Allirunty,pc

(R)

(D)

0l) 
'llichobla^st

(D) Laticif.rr

Ifoloblastic

None of'thc abovc

| 7 . When pollcn grains o f-a flowcr pollinatc any' othcr llowcr prcscnt on thc sanrc plant.

i t  is cal lcd :

(A) IIcrkogarnl,

(Cl) Porogarnv

18. lrndospcrtn in spccics tvilh ()enotlrcralypc ol'cmbryo sac 1s :

( l l )

( r))
I)ichogamy

(icitonogarny

19. Which ol'thc lirllou'ins is atctrasporic etncl 8-nuclcatc cn-tirryo sac ?

(f]) 'lbtraploid

(D)  I lap lo id

(l]) [rritillariatlpc

(D) I)cpronria t1'pc

(ll) Onagracl tl'pe

(D) Clhcnopodiad typc

20. 
'l 'hc 

typc ol'cmbryo devclopmcnt in rvhich apical ccll ol-thc trvo-ccllcd procmbrytr

divides by a transvcrsc wall emd both basal and apical cclls corttribr"ttc to thc ctnbrvtr

clcvcloprlcnt is callcd as :

(A) Astcracl t l 'pc

(C) Cruci lbrtypc

21. Whcn a turgid cel l  is placcd in a sucrosc solution l l-rat has rvater polcntial t trorc

ncgative than thc watcr polcntial ol-thc ccll. u'ater will movc {iom :

(A) 'lurgid 
ccll to thc sucrttse solution

(B) Sucrose solution to the turgid ccll

(C) Ir i thcr (A) or ( l l)

(D) Neithcr (A) nor (B)

czB-29843(I])



22. Which of the following is called a second messenger for its role in various plant

responses to environmental and hormonal signals ?

(A) Sulphur (B) Calcium

(C) Manganese (D) PhosPhorus

23. Carbohydrates translocated in the phloem are mostly :

(A) Reducingsugars (B) Non-reducing sugars

(C) Bothreducingandnon-reducingsugars @) Fleteropolysaccharides

24. Water, due to extensive hydrogen bonding between its molecules, has :

(A) High specific heat and low latent heat of vaporization

@) Low specific heat and high latent heat ofvaporization

(C) High specific heat and high latentheat ofvaporization

(D) I-ow specific heat and low latent heat of vaporization

25. Which of the fbllowing shuttlcs electrons between the cytochrome b6lcytochrome.l

complex and photosYstem I (PSD ?

(A) Plastocyanin (B) Plastoquinonc

(C) Both (A) and (B) @) Neither (A) nor (B)

26. The ion that plays a role in activation of Rubisco is :

(A) Ca2' (ts) Na'

(C) Ms'' (D) K'

27 . Which component of FoFr-ATP synthase contains the catalytic site for conversion ol'

ADP and P intoATP ?

(A) Fu component

@) F, component

(C)BothFoandF'componentshaveSeparatecata ly t ics i tes

(D) Neither Fo nor F, component has catalltic site

czB-2e843@) ['I'urn ovcr



28. The en4'rne that participates in both the citric acid cycle (TCA cycle) and the electron

transport chain in mitochondria is :

(A) Citrate synthase @) Isociffatedehydrogenase

(C) Succinate Cehydrogenase (D) Malare dehydrogenase

29 . The plant hoffnone that clearly shows polar transport is :

(A) fndole-3-acetic acid (B) Ethylene

(C) Tnattn (D) All oftheabove

3 0. Which ofthe fbllo',vinc is a clirnacteric fiuit ?

3 I . Flowering in short-day plants is inhibited by :

(A) P^ form of phytochrome (B) P'* form of'phyochromc

(C) Both(A)and(B) (D) Neither(A)nor(B)

32. The diagnostic f-eature of a non-competitive type of enzyme inhibition where the
inhibitor reduces the activity of the enzymeby binding not to the active sitc on the
en,{yme but to a diflbrent sitc is that :

(A) K, is unaffected, wheress Vn** decreases in presence of increasing

amounts ofinhibitor

(ts) K,n dccreases in presence of increasing amounts of inhibitor, whereas V

is una{lbcted

(C) Both K," ?hd V.u* are unaflected

([)) Both K,. &trd V,,n* are decreased

(A) Cheny

(C) Grape

33. Plants which are adapted to fire are called :

(A) Porophytes

(C) Psychrophiles

(B) Citrus

(D) Banana

(B) Pyrophyes

(D) Glycophytes

czB-29843(n\



34. Desiccation tolerant plants are known as :

(A) Poikilohydric

(C) Poikilothermic

@) Flomoiohydric

(D) None ofthe above

3 5. Which of the following letter combinations would be used to designatc a transition

horizon having distinct parts with properties of E horizon and other parts having

propertiesof B horizon ?

(A) EB (B) BFI

(C) F,TJ @) None ofthe abovc

36. A group of individuals of same age in a population constitute a :

(A) Cohort @) Scre

(C) Co-sere (D) Cohred

37 . Serotinal aspcct of a community refers to :

(A) Appearance of a community during spring

(B) Appearance ofacommunity during summer

(C) Appearance of acommunity during autumn

(D) Appearance ofacommunity during winter

3 8. Which oI'the lbllowing brings about oxidation of-nitrite to nitratc'/

(A) Nilntsomonas (lf) Nilntsocrtcctr,s

(C) Nitroso:;piru (D) Nitrobacter

39. Botanical namc of bread u,heal is :

(A) T'r.iticum aestivum (B) Trilicttm monococctttl't

(C) Tr"itic:um chrnrm (D) 'liiticum rJicoct'unt

40. The correct combination among the fbllowing is :

(A) Corchorus capsularis---'lbsajute

(R) Cctrchorus olitorius---Whitejute

(C) Corchorus capsularis---Whiteiute

tD) Corchorus olitorius---Blackjute
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41. Based on capsid architecture, Tobacco Mosaic Virus (TMV) is a :

(A) Helical virus (B) Polyhedral virus

(C) Envelopedvirus (D) Complexviruses

12. Hormogonia are specialized reproductive structures in :

(A) Phytopthora (B) Alternaria

(C).Rhizoptts (D) Nostoc

43. Puccinia belongs to :

(A) Ascomycotina

(C) Basidiomycotina

44. Nannandrous spccies of Oeclogonium arc '.

(A) Monoecious

(U) Dioccious

(C) Irither monoccious or dioccious

A) Ncither monoccious nor dioecious

45. Pseudoelators are fbund in the sporophyte of :

(A) Marchanlia

(C) Polytrichuat

46. Androcl'tes in P olytrichum ma1ntre into'.

(A) lJniflagellatcantherozoids

(B) Biflagellateantherozoids

(C) Quadriflagellateantherozoids

(D) Pentallagellateantherozoids

@) Deuteromycotina

(D) Zygomycotina

0f) Riccia

(D) Anlhoceros

47 . A siphonostele with non-overlapping leafgaps is known as ?

(A) Dictyostele (B) Actinostele

(Cl) Plectostele @) Solenostele

czB-29843(B)



48. Development of gametophyte directly from the vegetative cells of the sporophye

without the formation of spores is known as :

(A) Apospory

(C) Heterospory

49. The correct sequence ofvarious phases ofcell cycle is :

(A) G' G2, S and M

(C) G' S, G, and M

53. Histones are rich in :

(A) Arginine and Proline

(C) LysineandArginine

(B) Apogamy

(D) I{omospory

@) S, G' G, and M

@) G' G2, M and S

(B) Lysineand'Irytophan

(D) ProlineandTryptophan

50. The most common hemicellulose in the primary cell wall ofdicotyledons is :

(A) Xyloglucan (B) Galactoglucomannan

(C) Glucuronoxylan (D) None ofthe above

5 I . l8S rRNA in eukaryotes is a component of which subunit of ribosomes ?

(A) 605 subunit (B) 50S subunit

(C) 40S subunit (D) 30S subunit

52. Which ol'the following is true about telomeres ofchromosomes ?

(A) Initiate RNA synthesis

(B) Seal ends ofchromosomes

(C) I Ielp chromatids to move towards polcs

(D) Mark the location of nucleolar organizer region on the chromosome

54. Which of the fbllowing describes the ability of a single gene to have multiple

phenotypic effbcts ?

(A) Pleiotropy (B) Epistasis

(C) Incomplete Dominance (D) None ofthe above
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5 5 . The number of nitrogen atoms in guanine base of DNA is :

( A ) 2  @ )  3

(c) 4 (D) s

56. Processing of pre-mRNAs immediately after transcription in eukaryotes involves :

(A) Removal ofintrons

(B) Addition of cap to the 5' end

(C) Addition of polyadenylated (poly-A) tail to the 3'end

(D) All ofthe above

57 . Denaturation of DNA duplex results rn :

(A) Propellertwist

(C) Hypochromicity

(B) Hyperchromicity

(D) Polychromicity

(B) s'-TArAAi'-3'

(D) 5'*'I"TAAAI-3'

58. 
'fwo 

amino acids, each specitied by a single codon, are :

(A) MethionineandAryinine

(B) MethionineandLeucine

(C) Tryptophan and Methionine

(D) Proline and Methionine

59 . The DNA sequence of 
'l 

ATA box found in thc promoter region ol'many eukaryotic

gcncs ls :

(A) 5'-161a"aa-j

(c) s'{AAArf-t

60. R-plasmid when present in a bacteria confers :

(A) Resistance to high temperature

(B) Resistance to antibiotics

. (C) Resistance to cold temperature

(D) All ofthe above

czB-29843(B) l 0
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1. Exploitation and analy i of variability of genetic resources for improvement of existing crops 

under cultivation is referred to as : 

(a) Primary introduction 

(b) secondary introduction 

(c) Domestication 

(d) Acclimatization cum introduction 
 

2. Compilation of the historical "De Materia Medica" was carried out by: 

(a) Bentham 

(b) Bentham and Hooker 

(c) Theophrastus 

(d) Theophrastus and Aristotle 
 

3. Aplanogamic type of sexual reproduction occurs in 
1. 

(a) Oedogonium 

(b) Chara 

(c) Volvox 

(d) Zygnema 
 

4. The zoospores of Vaucheria are 

(a) Aflagellate 

(b) Uniflagella te 

(c) Multiflagellate 

(d) Biflagella te 
 

5. The most primitive type of life cycle in algae is 

(a) Haplontic 

(b) Diplontic 

(c) Haplobiontic 

(d) Diplobiontic 

 

6. Cleistothecia of which of the following fungus contains coiled appendages on the periderm: 

(a) Uncinula 

(b) Erysiphe 

(c) Colletotrichum 

(d) Venturia 
 

7. Key membrane sterol in' most of the fungi is 

(a) Cholesterol 

(b) Ergosterol 
(c) Mannitol 

(d) None of the above 



 

8. Nutrition in slime fungi is 
(a) Absorptive 

(b) Phagotrophic 

(c) Necrotrophic 

(d) Autotrophic 
 

9. Which among the following is used as a biocontrol agent? 

(a) Trichoderma viridae 

(b) Pythium debaryanum 

(c) Phytophthora infestans 

(d) Erysiphe polygoni 
 
10. Phialidic type of conidia are found in 

(a) Asperigillus 

(b) Albugo 

(c) Phytophthora 

(d) Pythium 
 

11. When the tissue close to vein turns yellow and the remaining surface o~ stays green; the 

condition is known as 

(a) Vein bending 

(b) Vein clearing 

(c) Variegation 

(d) Vennation 

 

12. When archegonia are borne at the apex of main axis or its branches, the condition is known a 

(a) Acrocarpous 

(b) Pleurocarpou 

(c) Stigmatocarpous 

(d) Cleistocarpous 

 

13. Conducting tissue in mosses is made up of: .j 

(a) Xylem 

(b) Collenchyma 

(c) Phloem 

(d) Parenchyma 

 

14. Green plastids are present in the cells of young antheridium of: 

(a) Riccia 

(b) Funaria 

(c) Pellia 

(d) Anthoceros 

 

15. A group of fused sporangia with distinct partition walls is known as 

(a) Sorus 

(b) Synangium 



(c) Both (a) and (b) 

(d) None of the above 

 

16. Which of the following can induce apogamy in fern gametophytes? 

(a) Low concentration of sucrose' 

(b) Medium concentration of sucrose 

(c) High concentration of sucrose 

 (d) All of the above 

 

17. Which of the following IS richly found m functional megasporophyte of 

Selaginella ? 

(a) Vacuoles 

(b) Starch 

(c) Cytoplasm 

(d) Cytoplasmic RNA \ 

 

18. Which of the following genera lacks a female cone? 

(a) Cycas 

(b) Cedrus 

(c) Ephedra 

(d) None of the above 

 

19. The form genus Caytonia was first discovered by 

(a) H. H. Thomas 

(b) T. M. Harris 

(c) K. R. Sporne 

(d) B. Sahni 

 

20. In which. geological period flowering plants first appeared? 

(a) Ordovician 

(b) Cambrian 

(c) Devonian 

(d) Cretaceous 
 

21. Girdling leaf-traces are the characteristic feature of the stem of:  

 (a) Ephedra 

(b) Cycas 

(c) Cedrus 

(d) Pinus 
 
22. Which of the following living pteriodophytic order shows more resemblances with Rhyniaceae? 

(a) Psilotales 

(b) Lycopodiales 

(c) Ophioglossales 
(d) Equisetales 

 

23. The International Code for Botanical Nomenclature (ICBN) governs the nomenclature of: 



(a) Plants alone 

(b) Plants and fungi 
(c) Plants and bacteria 

(d) Plan and viruses 

 

24. The mo t primitive group in dicots as per Engler a Prantl is 
(a) Ranales 

(b) A teraceae 

(c) Amentiferae 
(d) .L Iagnoliaceae 

 

25. An inventory of the plants of a defined geographical region is known as 
(a) Conspectus  
(b) Revision 

(c) Monograph 

(d) Flora 
 

26. which of the following families are the stamens syngenesious ? 

(a) Apiaceae 
(b) Asteraceae 

(c) Ranunculaceae 

(d) Rosaceae 
 

27. When the guard cells are surrounded by unspecialised epidermal cells; the type of stomata is 

(a) Anomocytic 

(b) Anisocytic 
(c) Diacytic 

(d) Paracytic 

 
28. Root endodermis is generally regarded as 

(a) .Outer most layer of cortex 

(b) Inner most layer of cortex 

(c) Both of the above 
(d) Either (a) or (b) 

 

29. Cambium and cork cambium are examples of: 
(a) Apical meristem 

(b) Intercalary meristem . 

(c) Lateral meristem 
(d) Primary meristem 

 

30. Pollination occurring between two flowers on the same plant IS termed as: 

(a) Autogamy 
(b) Xenogamy 

(c) Chasmogarny 

(d) Geitonogamy 
 

31. The first division of the zygote in Piperad type of the embryogeny 
(a) Vertical 

(b) Transverse 



(c) Oblique 

(d) Either (b) or (c) 
 

32. Synthetic seeds are: 

(a) Encapsulated zygotic embryos 

(b) Encapsulated somatic embryos 

(c) Genetically engineered seeds 

(d) None of the above 
 

33. When the aperture is on the proximal face, the pollen grains are designated as: 

(a) Zonotreme 

(b) Anatreme 

(c) Pantotreme 

(d) Catatreme 
 

34. When the exposed pollen wall shows rod-like elements with swollen tips, the sculpturing is 

called as 

(a) Psilate 

(b) Fossulate 

(c) Pilate 

(d) Baculate 
 

35. The fluidity of biomembranes is ascribed mainly to 

(a) The protein component 

(b) The lipid component 

(c) Both protein and lipid components 

(d) Neither protein nor lipid component 

 

36. Which one of the following is the acyl group carrier in the B oxidation of fatty acids? 

(a) Coenzyme A 

(b) Acyl carrier protein 

(c) Both (a) and (b) 

(d) Neither (a) nor (b) 

 

37. During photorespiration which of the following reactions takes place in the mitochondrion: 

(a) Conversion of glycine to serme 

(b) Conversion of serine to CO2 and NH3 

(c) Both (a) and (b) 

(d) None of the above 
 

38. The receptor in plants that perceives the photoperiodic signal is a 

(a) Conjugated protein 

(b) Hormone 

(c) Non-protein pigment 

(d) None of the above 
 

39. Gibberellins produced In the apical portions of both stems and roots cause: 



(a) Stem elongation 

(b) Growth of lateral branches 

(c) Abscission of leaves and fruits 

(d) Stem thickening 

 

40. The sterol: phospholipid ratio of membranes is high in 

(a) Glycophytes 

(b) Halophytes 

(c) Psamophytes 

(d) Hydrophytes 

 
41.Percentage of phanerophytes in the normal biological spectrum Raunkiaer (1934) is ? 
(a) 13 

(b) 26 

(c) 46 
(d) 62 

 

42. Most of the energy in a temperate coniferous forest flows through: 
(a) Detritus food chain 

(b) Grazing food chain 

(c) Auxiliary food chain 
(d) All of the above 

 

43. Maximum number of trophic levels in most food webs is about: 

(a or 9 
(b) 2 or 3 

c) 1 or 2 

d) 4 or 5 

 

44. Which among the following accounts for much of the biome differences in Net Primary Productivity 

(NPP)? 

a) Length of growing season 

b) Leaf area 

c) Soil fertility 

d) None of the above 

 

45. Pyrramid of number of a parasitic food chain would be always 
a) Upright 

b) In 'erted 

c) Either upright or inverted 

d) Neither upright nor inverted 

 

46. Bacteria that use light as energy source and organic substances as carbon source are called as: 

(a) Photoautotrophs 

(b) Chemoautotrophs 

(c) Photoherotrophs 

(d) Chemoheterotrophs 

 

47. Archaeobacteria differ from both eubacteria and eukaryotes in 



(a) Nature of membrane lipids 

(b) RNA polymerase structure 

(c) Composition' of their cell walls 

(d) All of the above 

 

48. Genetic material in plant viruses is mostly: 

(a) DNA 

(b) RNA 

(c) Both DNA and RNA 

(d) None of the above 

 

49. Which one of the following is true for spontaneous reactions? 

(a) +S and -H 

(b) -S and +H 

(c) Both (a) and (b) 

(d) Neither (a) nor (b) 
 

50. The most abundant non-reducing soluble sugar in plants is 

(a) Lactose 

(b) Maltose 

(c) Sucrose 

(d) Cellobiose 

 

51. The true substrate in most enzymatic reactions that involve ATIL 

phoryl donor is 

(a) MgATp2- 

(b) Mg2+ 

(c) Mg ADP- 

(d) None of the above 
 

52. Which of the following is not formed when yeast is producing wine? 

(a) Pyruvic acid 

(b) . Ethanol 

(c) CO2 

(d) Acetyl Co A 

 

53. In feedback inhibition, a metabolic pathway is switched off by: 

(a) A rise in temperature 

(b) Lack of substrate 

(c) Accumulation of end product 

(d) Competitive inhibition 

 

54. Covalently bound non-protein component of an enzyme is its 

(a) Coenzyme 

(b) Cofactor 

(c) Apoenzyme 

(d) Prosthetic group 



 

55. The rainfall in a district for four (04) months was 50, 40, 15 and 15 millimeters. The mean 

deviation of rainfall about mean for the given four months is 

(a) 30 

(b) 15 
(c _?_?.u- 

(d 0 
 

The extent of correlation between two related variables decreases, the value of co relation 

coefficient (r) approaches 

(a) +1 

(b) -1 

(c) Zero 

(d) None of the above 

 

57. The arithmetic mean of a distribution, in which there are some.extremely high or low values, 

will either over estimate or under estimate the average position and hence is not a best 

representative value. The measure of Central 

Tendency in such a situation is 

(a) Median 

(b) Mode 

(c) Standard deviation 

(d) None of the above 

 

58. How many progeny genotypes are expected after selfing of the parent having the genotype 

'AABbCC' : ' 

(a) . Two 

(b) Three 

(c) Four 

(d) Five 

 

59. The epistatic gene differs from dominant gene in that the 

(a) Epistatic gene is non-allelic 

(b) Epistatic and dominant genes are present at different loci 

(c) Both (a) and (b) are false 

(d) Both (a) and (b) are true 

 

60. Dominant genes 'A' and 'B' are required for normal hearing. A deaf couple has all children 

with normal hearing. The probable genotype of the couple IS : 

(a) AAbb x aaBB 

(b) AaBB x AABb 

(c) AaBb x AaBb. 

(d) aabb x aabb 

 
61. An allele 'A' after segregation from 'Aa' genotype produces a rm 

notype; the condition is called 
(a) Point mutation 



(b) Paramutation 

(c) Frameshift mutation 
(d) None of the above 

 

62. A larkspur plant has 16 chromosomes. How many linkage groups does it have? 

(a) 4 

(b) '8 
(c) 16 

(d) 20 
 

63. In a DNA molecule the percentage of adenine is 18%; the percentage of cytosine is expected to be 

(a) 18% 
(b) 36% 

(c) 27% 
(d) 54% 

 
64. The products of one gene required to activate another gene are called 

(a) Repressor elements 

(b) Co-enzymes 
(c) Transcription factors 

(d) None of the above 

 
65. Restriction endonucleases cut DNA at : 

(a) Palindromic sequences 

(b) Methylated sequences 

(c) ear exons 
(d) Any site 

 

66. The sum total of deleterious genes in a population at a particular time is 

(a) Gene pool 

(b) Genetic drift 

(c) Genetic load 

(d) Genetic imbalance 

 

67. The chain initiation and termination codons during protein synthesis respectively are : 
/ 

(a) AUG and UGA 

(b) GUG and UAA 

(c) Neither (a) nor (b) 

(d) Both (a) and (b) 

 

68. Which of the following commonly known medicinal herb IS used for the treatment of hair 

fall? 

(a) Bunafsha 

(b) Kahzaban 

(c) Van Wangun 

(d) Burza 

 

69. The commercially important active principal "Quercetin" is obtained from: 



(a) Podophyllum hexandrum 

(b) Atropa belladonna 

(c) Arnebia benthamii 

(d) Viola odorata 

 

70. Which of the following is essential for germplasm exchange ? 

(a) Plant introduction 

(b) Plant assessment 

(c) Plant quarantine 

(d) Plant adaptability 

 

BOTANY 2007 
 

1. "Little leaf' disease of brinjal is caused by: 

(a) viruses 

(b) mycoplasma 

(c) bacteria 

(d) phytophthora 

 

2. Adenoviruses are: 

(a) DNA containing plant viruses, spheroidal in shape with projecting fibres 

(b) RNA containing plant viruses, spheroidal in shape and enveloped 

(c) DNA containing animal viruses, spheroidal in shape with projecting fibers 

(d) RNA containing animal viruses, spheroidal in shape and enveloped 

 

3. Cell walls of Deuteromycetes contain 

(a) chitin-glucan 

(b) mannan-glucan 

(c) cellulose-glucan 

(d) pectin-glucan 

 

4. Morchella is a: 

(a) Parasitic hymenomycete . 

(b) Mycorrhizal gasteromycete 

(c): Symbiotic plectomycete 

(d) Saprobic discomycete 

 

5. In some plants of Oedogonium, the androsporangia are produced on filaments which do not 

bear oogonia. Such plants are said to be : 

(a) Gynandrosporous 



(b) Idioandrosporous 

(c) Androsporous 

(d) Gynosporous 

 

6. Select the odd one out in respect of the nature of sexual reproduction 

(a) Chlamydomonas debaryana 

(b) Chlamydomonas media 

(c)· Chlamydomonas coccifera 

(d) Chlamydomonas eugametos 
 

7. In which of the following species of Anthoceros the whole plant is covered with hair like 

outgrowths forming water-holding chambers? 

(a) A. arachnoides 

(bl A. giganteus 

(c) A. fusiformis 

(d) A. laevis 

 

8. In the stem of Polytrichum one or two layers of cells consist of dark brown suberized walls 

and contain copious starchy contents. This tissue is called: 

(a) Hydrom mantle 

(b). Hydrom sheath 

(c) Leptom mantle 

(d) Piliferous layer 
 
9. Rhynia belongs to : 

(a) upper Silurian 

(b) lower Devonian 

(c) middle Devonian 

(d} upper Devonian 

 

10. Steles in which leaf gaps occur less frequently and are distantly placed are called: 

(a) dictyosteles 

(b) medullated steles 

(c) perforated steles 

(d). solenosteles 

 
11. Which of the following is a single pass, single helix transmembrane protein? 

(a) Glycophorin 

(b) Spectrin 

(c)· Band 3 protein 
(d) Integrin 

 

12. Which of the following ions facilitates assemblage of subunits into a complete ribosome? 
(a) Na+ 

(b) Ca++ 

(c}, . Mg++ 
(d) Mn+ 

 



13. A plant carrying a duplicated chromosome segment is said to be 

(a) Hemizygous 
(b) Hyperploid 

(c) Disomic haploid 

(d), Addition haploid 

 
 

14. Select the odd one out in terms of the genome constitution 

(a) Gossypium hirsutum 

(b) Nicotiana tabacum 

(c) Musa esculentum 

(d). Brassica juncea 
 

15. The F2 progeny of "green-round" and "white-wrinkled" seeded parents contains 

4 types of plants: (i) green-round seeded 10; (ii) "green-wrinkled" seeded 

69; (iii) "white-round" seeded 85 and (iv) “white-wrinkled" seeded 15. This suggests: 

(a) duplicate gene inheritance 

(b) linkage in repulsion phase 
(c)· independent assortment 

(d) linkage in coupling phase 

 

16. Which of the following enzymes has both exonuclease 3' ---+ 5' and exonuclease 

5' ---+ 3' activities? 

(a) cannot reeognise codons GCU, GCC and GCA 

(b) can reeognise only codon GCU 

(c) can reeognise only codon GCA 

(d) can recogmse all the three codons 

  

17. The anticodon IGC : 

(a) .Prokayotic DNA polymerase I 

(b} Prokaryotic DNA polymerase II 

(c) Prokaryotic DNA polymerase III 

(d) Eukaryotic DNA polymerase p 
 

18. Which of the following mutations are likely to occur if DNA is exposed to proflavin dyes ? 

 (a) Suppressor mutations 

(b) Frame shift mutations 

(c) Transition mutations 

(d) Transversions 

 

19; Isopropyl thiogalactoside is 

(a) an inducer 

(b) a repressor 

(c) a gratuitous inducer 

(d) a co-repressor 

 

20. When shed from the sporangium, the microspores have : 



(a) one prothallial cell in Cycas and two in Ephedra 

(b) two prothallial cells in Cycas and one in Ephedra 

(c) one prothallial cell in both 

(d) two prothallial cells in both 
 

2. Select the odd one out 

a) coralloid roots 

b) loosely arranged megasporophylis 

c) absence of neck canal cells . 
(d) gametophytic endosperm. 

 
22. Paleontological evidences reveal that the flowering plants had attained high degree of morphological 

specialisation during: 

(a)J Triassic 
(b) Jurassic 

(c) Cretaceous 

(d) Palaeocene 

 

23. On the basis of carpel and stamen morphology and structure of wood which of the following plants 

seems to be primitive? 

(a) Cucurbita spp. 

(b) Solanum spp. 

(c) Convolvulus spp. 

(d) Degeneria spp. 

 

24. +ffi,  1\5' C 5~~5 G(2) is the floral formula of : 

(a)' Helianthus annuus 

(b) Brassica campestris 

(c) Lathyrus odoratus 

(d) Ie. Solanum nigrum 

 

25. A small cup shaped inflorescence con i ting of a single pistillate flower in the centre surrounded by 

numerous staminate flowers is called 

(a) Glomerule 
(b) Cyathium 

(c). Hypanthodium 

(d) Verticillaster 
 

26. Which one of the following is considered equivalent to perianth ? 
(a)' Glumes 

(b) Lodicules 

(c) Superior palea 

(d) Inferior palea 

 

27. The process of grouping of organisms into taxa on the basis of overall similarities is called 

(a) phenetics 

(b)- cladistics 

(c) alpha taxonomy 



(d) beta taxonomy 

 

28. "Systema Naturae" was written by: 

(a) Charles Robert Darwin 

(b) George Bentham 

(c) Jean Baptiste Lamarck 

(d) Carolus Linnaeus 

 

29. According to Bentham and Hooker's classification system the order Rosales falls in which of 

the following series? 

(a) Thalamiflorae 

(b)Bicarpillatae 

(c) Calyciflorae 

(d) Inferae 

 

30. Which of the following plants is perennial and monocarpic ? 

(a) Agave americana 

(b) . Cocos nucifera 

(c) Phoenix dactylifera 

(d) ,; Hevea brasiliensis 

Botany 6 

 

31. Which one of the following is different from others in respect of the nature of its roots? 

(a) Sonneratia sp. 

(b) Avicinnia sp. 

(c) Heritiera sp. 

(d) Pandanus sp. 

 

32. In some plants the leaves occur along a straight vertical line. This condition is called: 

(a) Distichous 

(b) Parastichous 

(c) Orthostichous 

(d)- Unistichous 

 

33. Alburnum and Duramen respectively are alternate names of : . 

(a) heartwood and sapwood 

(b) sapwood and heartwood 

(c) -porous wood and ring-porous wood 

(d) ring-porous wood and diffuse-porous wood 

 

34. The sclerenchyma of cortex originates from: 

(a) Ra initials 

(b) Fusiform initials 

(c) Protoderm 

(d) Periblem 

 



35. The first lower most leaves of a plant's side branch are called 

(a) cataphylls 

(b)prophylls 

(c) hypsophylls 

(d) platyclades 

 

36. The book entitled "Plant Embryology" was written by 

(a) Karl Schnarf 

(b) P. Maheshwari 

(c) D.A. Johansen 

(d) G. Davis 

 

37. In respect of chromosome number which one of the following is different? 

(a) Embryo sac 

(b) Archesporium 

'(c) Sporogenous tissue 

(d). Spore mother cells 

 

38. In Dianthus the style is much longer than the stamens. This condition is called: 

(a) Dichogamy 

(b) Herkogamy 

(c)." Heterostyly 

 (d) None of the above 

 

39. \If W of a living plant cell is the sum of : 

(a) wall pressure and pressure potential 

(b) wall pressure and matric potential 

(c) osmotic potential and pressure potential 

(d).. osmotic potential and solute potential 

 

40. Which of the following diseases is caused in plants due to deficiency of Zn ? 

(a) Heart rot of beats 

(b) Whiptail of cauliflower 

(c). Grey speck of oats 

(d) Little leaf of apples 



 

41. Which of the following compounds is a prosthetic group? 

(a) FAD 

(b) Biotin 

(c) LDH 

(d) NAD 

 

42. A substrate fails to join the enzyme because its active site is deformed by an analogue of the 

substrate. This process is called 

(a) Allosteric inhibition 

(b). Competitive inhibition 

(c), E.nd product inhibition 

(d) Feedback inhibition 

 

43. Which of the following compounds serves as the electron donor during biological nitrogen 

fixation ? 

(a) 6-Phosphogluconic acid 

(b) Acetyl phosphate 

(c) Dinitrogeri reductase 

(d).Pyruvic acid 

 

44. For carbon fixation during "dark reaction" the three carbon atoms of each 

PGA molecules are derived from: 

(a) RuBP 

(b) CO2 

(c) RuBP + CO2 

(d), RuBP + CO2 + PEP 

 

45. Which one of the following facts explains "Warburg Effect" ? 

(a)" Rate of photosynthesis decreases at low 02 concentration 

(b) Rate of photosynthesis increases at low 02 concentration 

(c) Rate of photosynthesis decreases at high 02 concentration 

(d) Rate of photosynthesis increases at high 02 concentration 

 

46"" The seeds of lettuce are 

(a) non-photoblastic 

(b) positively photoblastic 

(c) negatively photoblastic 

(d) ABA induced 

 

47. Plant leaves are: 

(a) . Plageotropic 

(b) "Diageotropic 

(c) Ageotropic 

(d) Negatively geotropic 

 



48. Which one of the following compounds shows "Richmond-Lang" effect? 
(a) IAA 
(b) ABA 
(c) GA3 
(d) Kinetin 

 

49. The correct sequence of electron acceptors in ATP synthesis" is : 

(a) Cytochrome a, a3' b, c 

(b) Cytochrome b, c, a, a3 

(c) Cytochrome b, c, a3' a 

(d)." Cytochrome c, b, a, a3 

 

50. Who amongst the following has contributed extensively to the study of Indian grass-land 

ecology? 

(a) R Misra 

(b) G.S. Puri 

(c) J.S. Singh 

(d) RR. Das 

 

51. Which of the following statements is true? 
(a) The ecological pyramid of numbers is inverted in a tree ecosystem 

(b)  The ecological pyramid of numbers is upright in a tree ecosystem 

(c) The ecological pyramid of numbers is inverted in herbaceous ecosystem 
(d) The ecological pyramid of biomass is upright in an aquatic ecosystem 

 

52. The plant species that thrive well in narrow salinity and narrow temperature ranges are called 
respectively as : 

(a) Euryhaline and Eurythermal 

(b) Stenohaline and Stenothermal 
(c) Steno1'r'aJ/ne and Eurythermal 

(d) Euryhaline and Stenothermal 

 

53. Acacia senegal and Rhizophora sp. respectively are 

(a) Psammophyte-Lithophyte 

(b) Lithophyte-Psychrophyte 
(c) Psychrophyte-Halophyte 

(d) Psammophyte-Halophyte 

 

54. Morphologically different populations when grown in an identical habitat become uniform and the 

variations disappear. Such populations are called: 
(a)' Ecotones 

(b) Ecoclines 

(c) Ecads 

(d) Ecotypes 

 

55. A climax community represented by a single dominant species is called 

(a)" Society 

(b) Lociation 

(C) Consociation 



(d) Association 

 

56. Which of the following plants produces a caryopsis ? 

(a) Triticum aestivum 

(b) Artemisia annua 

(c).. Solanum tuberosum 

(d) Lathyrus odoratus 

 

57. The famous timber "Saguan" is obtained from 

(a)Eucalyptus globosus 

(b) Tectona grandis 

(c)Shorea robusta 

(d)Dalbergia sissoo 

 
58. The common gunny bag fibre IS obtained from 

(a) Crotolaria juncea 

(b) Cocos nucifera . 

(c) Corchorus capsularis 

(d) Quercus superba 

 

59. pBR327 is : 

(a) yeast plasmid vector 

(b) phagemid pBluescript vector 

(c) pUC vector 

(d) E. coli plasmid vector 

 

60. Which of the following properties of Ti plasmids ofAgrobacterium made them a suitable 

choice for use as vectors ? 

(a) Large size 

(b) Absence of unique restriction sites 

(c) Tumour induction properties 

(d) Presence of vir gene. 

 

BOTANY 2008 
1. Bacteria cannot survive in a highly salted pickle because 

(A) Salt inhibits reproduction 

(B) Pickle, does not contain nutrients necessary for bacterial growth 

(C) Bacteria do not get enough light for photosynthesis 

(D) Bacterial cells become plasmolysed and consequently killed 

 

2. In which of the following conditions transpiration would be the most rapid? 

(A) High humidity 



(B) Excess of water in the soil 

(C) Low humidity and high temperature 

(D) Low wind velocity 

 

3. Which of the following denotes the covalently bound non-protein component of 'an enzyme? 

(A) Coenzyme 

(B) Cofactor 

(C) Apoenzyme 

(D) Prosthetic group 
 
4.' Majority of the higher plants growing in well-aerated soils rich in organic matter preferably 

utilize: 

(A) NH4+ 
(B) N02 

(C) N03 

(D) Organic nitrogen· 

 

5. In most of the enzymatic reactions that involve ATP as the phosphoryl donor, the true 

substrate is 

(A) Mg ATP2- 

(B) Mn ATP2- 

(C) Ca ATP2- 

(D) None of the above 

 

6.' During photorespiration, the conversion of glycine to serine, and of serine to CO2 and NH3 takes 

place in :. 

(A) Chloroplasts 
(B) Mitochondria 

(C) Peroxisomes 

(D) None of the above 

 

7. Which of the following enzymes is/are synthesized de novo during the germination of lipid-storing 

seeds? 
(A) Isocitrate lyase 

(B) Malate synthetase 

(C) Both of the above 
(D) None of the above 

 

8. Which of the following plant hormones delay senescence? 

(A) Cytokinins 

(B) Auxins 
(C) Gibberellins 

(D) Ethylene 

 
9. The photosynthetically active radiation (PAR) is 

(A) < 400 nm 
(B) Between 400 to 700 nm 

(C) >740, nm 



(D) None of the above 

 
10. Sleep movement of beans is an example of: 

(A) Epinasty 

(B) Nyctinasty 

(C) Thigmonasty 

(1) Seismonasty 

 

11. In the hydrological cycle, precipitation exceeds evaporation and transpiration over the: 

(A) Land surfaces 

(B) Oceans 

(C) Both of the above 

(D) None of the above 

 

12. The length of the food chains is limited by : 

(A) Less energy available to support more trophic levels 

(B) Less ecological efficiency of different trophic levels 

(C) Both of the above 

(D) High energy available to disrupt trophic levels 

 

13. The pioneer plants in the secondary succession are usually: 

(A) Lichens 

B) Weeds 

(C) Ferns 

(D) All of the above 
 

14. Aerial roots, vivipary and succulence are the common adaptations of: 

(A) Xerophytes 

(B) Hydrophytes 

(C) Mesophytes 

(D) Halophytes 

 

15. Kashmir Valley falls within the Indian biogeographic region of: 

(A) Trans-Himalaya 

(B) Eastern Himalaya 

(C) Northwestern Himalaya 

(D) Central Himalaya 

 

16. Ecologically, a population is defined as : 

(A) A single group of interbreeding individuals of the same species 

(B) A single group of interbreeding individuals of different species 

(C) A single group of interbreeding individuals of a few species 

(D) A single group. of interbreeding individuals of many species 

 

17. Which of the following genera includes fibre plants? 

A) Oryza 

B) Brassica 



(C) Atropa 

(D) Gossypium 

 

18. 'The drugs extracted from Podophyllum hexandrum are 

(A) Anti-carcinogenic 

(B) Sedative 

(C) Diuretic 

(D) Aphrodisiac 

 

19. Which of the following is used as a cloning vector in plants? 

(A) Cosmid 

(B) Phagemid 

(C) Ti Plasmid 

(D) YAC 

 

20. When a mature cell reverts back to meristematic state and forms an undifferentiated callus 

tissue, the process is termed as 

(A) Postdifferentiation 

(B) Redifferentiation 

(C) Dedifferentiation 

(D) Predifferentiation 

 

21. In diploid organisms, the formation of multivalents at meiosis is due to 

(A) Monosomy 

(B) Inversion 

(C) Duplication 

(D) .Reciprocal translocation 

 

22. An anticodon of tRNA recognizes more than one codon ofmRNA. This explains: 

(A) Wobble hypothesis 

(B) Degeneracy of genetic code 

(C) U.niversality of genetic code 

(D) Triplet nature of genetic code 

 

23. How many Trisomies are possible in an individual with 2n = 20 
(A) 5 
(B) 10 
(C) 15 
(D) 20 
 
24. A wild allele 'A' after segregation from 'Aa' genotype gives a mutant phenotype; the condition 

is called as 

(A) Point mutation 

(B) Paramutation 

(C) Frameshift mutation 

(D) Back mutation 

 



25. PBR-322 is : 

(A) An artificially constructed plasmid 

(B) A natural plasmid 

(C) A cosrnid 

CD) A phagemid 

 

26. In a DNA molecule with percentage of Guanine as 24, Adenine is expected to be: 
(A) 52% 

(B) 48% 

(C) 26% 

(D) "24% 

 

27. The ~fatty acid tail in a phospholipid molecule is 

(A) Hydrophobic 

(B) Hydrophilic 

(C) Amphipathic 

(D) None of the above 

 

28. Which DNA sequences are functional even at a great distance from either side of the 

transcriptional initiation site of a gene? 

(A) Response elements 

(B) Promoters 

(C) Enhancers 

(D) Operators 

 

29. Brown eye is dominant over blue eye. A brown-eyed couple has a blue-eyed child. The 

genotype of the couple would be 

(A) BB x bb 

(B) bb x bb 

(C) BB x Bb 

(D) Bb x Bb 

 

30. Which mutation of the sequence GATCCT is a transition? 

(A) GGTCCT 

(B) GTTCCT 

(C) GTATCCT 

(D) GTCCT 

 

31. A motile flagellated asexual cell is called: 

(A) Sperm 

(B) Zoospore 

(C) Oospore 

CD) Androspore 

 

32. Algae are classified into major groups on the basis of: 

(A) Nature of the reserve food product 

(B) Chemical composition'of the cell wall 



(C) The type of pigment 

(D) 'Vegetative characters 

. 

33. The conjugating gametangia of Rhizopus are 

(A). Physiologically similar but morphologically dissimilar 

(B) Physiologically dissimilar but morphologically similar 

(C) Physiologically similar and morphologically similar 

(D) Physiologically dissimilar and morphologically dissimilar 

 

34. All fungi lack : 

(A) Centrioles 

(B) Cell wall 

(C) Rhizoids 

(D) Haustoria 
 

35. The capsule of the sporophyte in Polytrichum lacks: 

(A) Operculum 

(B) Peristome 

(C) Columella 

(D) None of the above 

 

36. Equisetum is : 

(A) Incipiently heterosporous 

(B) Distinctly heterosporous 

(C) Homosporous 

(D) Asporous 

 

37. The form genus Rhynia was discovered by: 

(A) Kidston and Lang 

(B) Arnold 

(C) Birbal Sahni 

(D) Campbell 

 

38.The simplest known sporophyte among Bryophyta occurs in 

(A) Funaria 

(B) Anthoceros 

(C) Marchantia 

(D) Riccia 

 

39. One of the main reasons for including Cyanophyceae in Procaryota is: 

(A) Absence of sexual reproduction 

(B) Absence of flagellated spores 

(C)Absence of nuclear membrane 

(D) Presence of mucilaginous sheath 

 

40. The genome of plant viruses is mostly: 



(A) ssDNA 

(B) ssRNA 

(C) dsDNA 

(D) dsRNA 

 

41. Which of the following is not a characteristic feature of Cycas? 

(A) Circinate vernation of foliage leaves 

(B) Armed parenchyma 

(C) Motile sperms 

(D) Vessels in the xylem 

 

42. K.R Sporne (1974) has placed ~ the order Cordaitales in the group: ‘. 
(A)Coniferopsida 

(B)Cycadopsida 

(C)Gnetopsida 

(D)Cordaitopsida 

 

43. The form genus Caytonia represents 

(A) Microsporophyll 

(B) Megasporophyll 

(C) Foliage leaf 

(D) All of the above 

 

44. Which of the following statements in not correct? 

(A) All seed plants are heterosporous 

(B). Selaginella shows incipient seed habit 

(C) All vascular plants bear seeds 

(D) The seeds have survival value 

 
45. Amongst the following attributes of a flower, which one is considered to be the primitive? 

(A) Floral parts fused 

(B) Ovary superior· 

(C) Symmetry bilateral 

(D) Floral parts reduced to less than four 

(A) 

 

46. In tetradynamous condition, the stamens are arranged in two whorls of: 

(A) 2 (short) + 2 (long) 

(B) 2 (long) + 4 (short) 

(C) 4 (short) + 4 (long) 

(D) 4 (long) + 2 (short) 

 

47. In a dichotomous taxonomic key, the statement "Flowers red" would be called: 

(A) A lead 

(B) A couplet 

(C) A triplet 



(D) A character 

 

48. The Pome type of fruit occurs in 

A) Pomegranate 

(B) Peach 

(C) Plum 

(D) Pear 

 

49. In a descending order, the correct sequence of the following categories in the taxonomic 

hierarchy would be : 

(A) Class, Division, Order, Family, Genus, Species 

(B) Order, Division, Class, Family, Genus, Species 

(C) Division, Class, Order, Family, Genus, Species 

(D) Division, Order, Class, Family, Genus, Species 

 

50. Bentham and Hooker's system of classification of plants was published in the 

(A) Genera Plantarum 

(B) Species Plantarum 

(C) Historia Plantarum 

(D) Systema Naturae 

 

51. The first pollinating agents in angiosperms 'were probably 

(A) Beetles 

(B) Birds 

(C) Bats 

D) Butterflies 

 

52. The Quiescent Center is a reservoir of cells showing 

(A) High meristematic activity 

(B) Occasional meristematic activity 

(C) No meristematic activity 

(D) Annual meristematic activity 

 

53. The companion cells are absent in : 

(A) Halophytes 

(B) Xerophytes 

(C) Monocots 

(D) Gymnosperms 

 

54. Which of the following structures is not found in an angiosperm leaf? 

(A) Periderm 

(B) Guard cell 

(C) Chloroplast 

(D) -Phloem 

 

55. The structural arrangement of wood components is called as 



(A) Texture of wood 

(B). Figure of wood 

(C) Grain of wood 

(D) Gravity of wood 

 

56. The annual growth rings are distinct in plants growing in the:  

(A) Tropical regions 

(B) Arctic regions 

(C). Grasslands 

(D) Temperate regions 

 

57. The Tunica and Corpus regions of the shoot apex are usually distinguished by the: 

(A) Numbers of cell division 

(B) Rates of cell division 

(C) Planes of cell division 

(D) None of the above 

 

58: The female gametophyte of a typical dicot at the time of fertilization is 

(A) 8-nucleate, 8-celled 

(B) 8-nucleate, 7-celled 

(C) 7-nucleate,7-celled 

(D) 7-nucleate, 8-celled 

 

59. The function of the tapetum in an anther is related to: 

 (A) Dehiscence 

(B)Division” 

(C) Protection 

(D) Nutrition 

  

60. The single cotyledon in grass embryo is called 

(A) Scutellum 

B)Coleorhiza 

(C) Coleoptile 

(D) Endothelium 
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